= o
A & 0l & AF 2 E A A
201789 = S0l& LB A IIEISESH FUHEFY ~ F 22
SN Eo=)
HE: HANB MIASBNUIA 7S
FRlD ALSIA Bl A ADIBE RE (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Foli =t 42,357,924 42,994,032 A 636,108
= 21,630,809
Xl 1,477,845
Al 17,119,684
- 2,129,586
HAAHNES2 A SEAMEIA 25 34,474,336 33,866,303 608,033
= 17,164,707
Xl 1,379,916
Al 15,067,155
- 862,558
AZIAHIA HAADIEE RF 4,597,902 4,656, 182 58,280
= 153,846
Xl 1,379,916
Al 2,449,286
- 614,854
KNS ALS S XA =& 55,540 42,160 13,380
201 et 16,990 10,410 6,580
01 At 2teltl 16,990 10,410 6,580
(eeregl) 540
1.AGAIEZEAM 2EHIS
90,000& 12| x6 & 540
(2e+¢) 16,450
TLASAMIEZEAM A3+
70,0003 47«53 16,450
203 YR =&l 10,000 10,000 0
03 A BFAH S =AY 10,000 10,000 0
1.2XXNdSLFA 10,000, 000& 10,000
301 LAz 8,550 3,750 4,800
01 MI2ZHE 6= 3,750 3,750 0
1.2HDAZT ZH 750,000& x5H 3,750
MIIEEES 4,800 0 4,800
TASAZEEHEANM 4SR0S AT A
24 20,0003 *50H *62| *80% 4,800
307 glz2+ol & 20,000 18,000 2,000
04 QIZFHALAIH E = 20,000 18,000 2,000
TLAGAE2EHEAM /s 5,000,000& 5,000
2. 87N SN 15,000, 000& 15,000
NAAEHEAN 2SS XA 41,500 33,970 7,530
Al 20,500
- 21,000
301 g2 L= 500 500 0
09 SALAHIEA S 500 500 0
LA s AOILHE A 0 500,000& 500




SN Fo#=Y
Bu: oS NSEAHA RS
S MIIMEIA HAHDIB 2F (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 41,000 33,470 7,530
Al 20,500
- 20,500
10 ALl SXAIEEE 2 H EX 41,000 33,470 7,530
TAGABEEAME X 41,000,000& 41,000
Al 20,500
- 20,500
SEMEEXN 2R 2,086,581 2,022,641 63,940
Al 1,861,581
T 225,000
307 glz2+ol & 2,086,581 2,022,641 63,940
Al 1,861,581
T 225,000
10 ALSISXAIEEE2EHEX 2,086,581 2,022,641 63,940
1LEEMIASZ2YHI(3MHL)
2,086,581,000& 2,086,581
Al 1,861,581
- 225,000
FCOEAY K& 30,000 30,000 0
307 glz2+ol & 30,000 30,000 0
11T M SXASEEX 30,000 30,000 0
1TLEEOEAIS X & 30,000,000& 30,000
ZEOWIAMY XA 25,000 25,000 0
Al 12,500
- 12,500
307 21201 A 25,000 25,000 0
Al 12,500
- 12,500
11T MISRASEX 25,000 25,000 0
1. EEWIANY X 25,000,000& 25,000
Al 12,500
T 12,500
M2 SXAIE SAXE 117,900 105,336 12,564
Al 117,900
301 gt d= 117,900 105,336 12,564
Al 117,900
0B MEIERRIAEBY= 117,900 105,336 12,564
AR EXAE A ER2 RS A
117,900, 000& 117,900
Al 117,900
NS At2] Ml A S XHAHY 1,971,309 2,059,000 AB7,691
X 1,379,916
Al 395,162
- 196,231
201 Let4d] 9,000 9,000 0




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 6,300
Al 2,700
01 At 22l 8,700 8,700 0
(deregyl) 8,700
1.8822 2 M& & 24l 3,000,000& 3,000
Xl 2,100
Al 900
2.NRES 2L 2,676,000 2,676
Xl 1,873
Al 803
A=A S EHI 7,0003 6 64l x 128 3,024
Xl 2,117
Al 907
02 =224l 300 300 0
(2222 % WAl 300
1.2823 300,000& 300
Xl 210
Al 90
307 glz2tol & 1,962,309 2,050,000 AB7,691
X 1,373,616
Al 392,462
T 196,231
05 RIZIRIEt 3 1,962,309 2,050,000 A 87,691
T A AL M ASF XA 1,962,309, 000& 1,962,309
Xl 1,373,616
Al 392,462
- 196,231
#==n gy AYED 2,700 2,700 0
201 Let24E] 2,700 2,700 0
01 At 22l I 2,700 2,700 0
(gurag) 2,700
=2 soeH AUXX SRSHE
2,700,000 » 14! 2,700
At 22l Ab KT & 151,572 146,760 4,812
= 75,786
Al 37,893
- 37,893
101 @144l 151,572 146,760 4,812
= 75,786
Al 37,893
- 37,893
04 JIZHHZ2Z2XNSE+ 151,572 146,760 4,812
T.S At 2t 2l A 2124 ] 151,572,000& 151,572
= 75,786
Al 37,893
T 37,893




SN FUH=D
Ha: gz MSISEAMHA P
S MIIMEIA HAHDIB 2F (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S At 22l K& 15,000 15,000 0
= 7,500
Al 3,750
- 3,750
201 £B-2dH| 4,500 3,800 700
= 2,250
Al 1,125
- 1,125
01 At 22l 4,500 3,800 700
(ger+=&dl) 4,500
T Atdl 2l EESME 800,000& 800
= 400
Al 200
- 200
2. Akl 2el sl el 2,700,000& 2,700
= 1,350
Al 675
- 675
3. U=EE@ 100,000 5% »23| 1,000
= 500
Al 250
- 250
202 Odl 1,000 1,000 0
=2 500
Al 250
- 250
01 = LH 4 Hi 1,000 1,000 0
T ussa 0l 100, 000& 5H 23| 1,000
= 500
Al 250
- 250
301 et a = 9,500 10,200 A700
= 4,750
Al 2,375
T 2,375
01 MEIBEE 2063 9,500 10,200 A700
1.1t Atell 22l CH & X XI&dl 9,500,000 9,500
= 4,750
Al 2,375
- 2,375
= SE8 SEAMHA XA 100,800 18,000 82,800
= 70,560
- 30,240
201 Let24d] 24,000 1,500 22,500
= 16,800
- 7,200
01 At 22/l 24,000 1,500 22,500




2N

I FHUHZO ASSBAMHA RS
SRl AFSIMHIA DB RE (&9 &)
_ _ _ SHE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
1.2 &8 SstMHlA 298 24,000,000 24,000
=2 16,800
2 7,200
301 Yt A2 76,800 16,500 60,300
=2 53,760
2 23,040
01 AlBIE & H 45 2 76,800 16,500 60,300
1.2t AFH 22 CH AL RF Xl 2]
76,800,000 76,800
=2 53,760
2 23,040
Aol S X AlL XA 11,510,732 11,932,502 A421,770
=2 5,128,020
Al 6,228,512
2 154,200
ZHOH O S JI XI & 100,000 90,000 10,000
201 L2 100,000 90,000 10,000
01 AL 22l H 100,000 90,000 10,000
TLEMQSHAIRA 2lA2 100,000,000 100,000
EHOHQIHFAIE R A 6,427,736 6,587,679 A 159,943
=2 3,957,703
Al 2,470,033
301 Yt A2 22,437 21,000 1,437
Al 22,437
01 AFBIE & E L5 2 22,437 21,000 1,437
TASETAILEEZHSAH L S22 EH|
22,437,000 22,437
Al 22,437
307 eI2+0l & 6,405,299 6,566,679 A 161,380
=2 3,957,703
Al 2,447 596
10 ABIEXNAEHES2HHEX 6,405,299 6,566,679 A 161,380
T.EOMHHFALESHH (20 2)
5,653,862,000 5,653,862
=2 3,957,703
Al 1,696,159
2.HOHQAHNFAIZE2SHI (AMBIEEXH)
489,147,000 489,147
Al 489,147
S.EOMQASHI HZAESD (1 A)
200,460,000 200,460
Al 200,460
4. HjQZSMEIIE 2| 61,830,000 61,830
Al 61,830
EHOH QI KIS AFSI THE Al & X & 1,721,685 1,640,770 80,915
Al 1,687,685




2N
X ZH -
L= B
el

Folg =1
HAANS MBISEMHIA 25
R OH Q= A& K| &

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
- 34,000
201 L2l 9,000 9,000 0
01 At 2t 2l 9,000 9,000 0
TLEMWASS EoAg AEELRE =¥
30,0003 x2H 15021 9,000
307 glz2tol & 1,712,685 1,631,770 80,915
Al 1,687,685
- 25,000
10 AL SXNAIEEHE2EH EX 1,712,685 1,631,770 80,915
THMHAF2UHESAE2I (50H4)
647,960,000 647,960
Al 647,960
2 AMEBOHAEHIANL RS 50,000,000& 50,000
Al 25,000
- 25,000
JASHHOHIENZA2G (1HA)
860,560,000& 860,560
Al 860,560
4. =3t HH 2 154,165, 000& 154,165
Al 154,165
OIS THE A S X 1,335,703 1,335,007 696
Al 1,335,703
307 gl2tol & 1,335,703 1,335,007 696
Al 1,335,703
10 M3 SXNANEHI2IHEXR 1,335,703 1,335,007 696
T MNATHEA LS (6IHA)
1,335,703,000& 1,335,703
Al 1,335,703
HAUQLAALX S 1,884,213 2,239,352 A 355,139
= 1,170,317
Al 713,896
307 Qiz2tol & 1,884,213 2,239,352 A 355,139
= 1,170,317
Al 713,896
10 M2 SXNANEHE2IHEX 1,884,213 2,239,352 A 355,139
THNQQUEANE2HHI(10HA) 1,671,882,000& 1,671,882
= 1,170,317
Al 501,565
2.HNQAANLE2ZHI (ABISEXA)
212,331,000& 212,331
Al 212,331
ZOoHe0ls XA 20,200 20,200 0
307 eI+l & 20,200 20,200 0
11 ALSI S XA E = 20,200 20,200 0
1.2 0ISEH X 20,200,000& 20,200




2N
X ZH -
L= B
el

Folg =1
FHorEo NBSEMHA 7
R OH Q= A& K| &

A

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ZOHAX A THEANE I SsEL 21,195 0 21,195
Al 21,195
402 QI2H X201 M 21,195 0 21,195
Al 21,195
02 QI 2 A EZ (01X TH ) 21,195 0 21,195
1.3 YHMHAF2AHESHE HH 2L (X2 1
o) 21,195,000 21,195
Al 21,195
ZOH QI M2 OFE K| & 18,365,702 17,277,619 1,088,083
= 11,882,841
Al 6,389,357
- 93,504
OISR S 2R A 27,579 10,637 16,942
201 Let24d] 24,579 10,637 13,942
01 At 22/l 13,875 5,285 8,590
(CEEES=Yp 13,175
LRSS
1,500& 3000 *3Z *90% 1,215
2. HM S XHEX P 1, 1002 =8, 60004 9,460
HEEEA 2B HE 1,000, 000& 1,000
4 ZHASXAIMY U= M
500& +3,000% 1,500
(2e+¢) 700
1.0 =XRAR¥e e+
0,000& 10 13 700
02 =224l 10,704 5,352 5,352
(S32L2LHA) 10,704
1.2 FI2E =X BEHE2 D XM 10,704
Jb. et 300& 40024« 12& 1,440
= 1,930& 4004 x12& 9,264
405 RHoHE S HI 3,000 0 3,000
01 XL 2 EFH S| 3,000 0 3,000
1LZLESEMH S558I &X
1,500, 000& »2CH 3,000
Zo=<(0l=x) 920,663 811,920 108,743
- 644,464
Al 276,199
301 LEtE L= 920,663 811,920 108,743
= 644,464
Al 276,199
01 A3l EE E 56l = 920,663 811,920 108,743
1LE2M=<(II=x) 920,663,000& 920,663
- 644,464
Al 276,199




SN FUH=D
Hu: o HZO ASEBAHIA R=
Sl MO MBOIHK (B9 ®R)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
(Ao S) 619,311 699,000 AT9,689
= 433,518
Al 185,793
301 gt d= 619,311 699,000 AT9,689
= 433,518
Al 185,793
01 Ml2ZHE 6= 619,311 699,000 AT9,689
LB+ (e S) 619,311,000& 619,311
= 433,518
Al 185,793
Zo=<(AMHISEXZ) 486,000 432,000 54,000
Al 486,000
301 et a = 486,000 432,000 54,000
Al 486,000
01 MEIBZE 05z 486,000 432,000 54,000
LEMW=Z(AHISEXE) 486,000,000 486,000
Al 486,000
ZOHASZ 6,737,721 6,098,510 639,211
= 4,716,405
Al 2,021,316
301 et a3z 6,737,721 6,098,510 639,211
= 4,716,405
Al 2,021,316
01 AR 2Z A 53 6,737,721 6,098,510 639,211
1. 20ele =3 6,737,721,000& 6,737,721
= 4,716,405
Al 2,021,316
FoperelzH X & 232,800 305,190 AT2,390
= 186,240
Al 46,560
308 AHAIEHHSOIA 232,800 305,190 AT2,390
= 186,240
Al 46,560
10 B2 S0t B & XA 232,800 305,190 AT2,390
1.Z20e e =4l 232,800, 000& 232,800
= 186,240
Al 46,560
ZOHASEHXA 23,051 18,768 4,283
= 5,000
Al 18,051
201 et 13,051 9,068 3,983
Al 13,051
02 2324l 13,051 9,068 3,983
(SS22LHA) 13,051




2N FUH=
Hu: o HZO ASEBAHIA R=
EHel: QI MEM XA (2 &HH)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %E& HRE2
I EEVENSEE=RETCPITESEY
13,051,000 13,051
Al 13,051
301 Bt A= 10,000 9,700 300
= 5,000
Al 5,000
01 Al E & A 462 10,000 9,700 300
1. 202 S EH| 10,000,000& 10,000
= 5,000
Al 5,000
HE AL E4atHIE & 12,000 8,000 4,000
= 8,400
Al 3,600
301 et A= 12,000 8,000 4,000
= 8,400
Al 3,600
01 Al B & A 462 12,000 8,000 4,000
1. &0HC SMHIES K& 12,000,000& 12,000
2 8.400
Al 3,600
ZOHAEXDRNEXEH 10,545 10,638 A 93
= 8,436
- 2,109
301 et A= 10,545 10,638 A 93
= 8,436
- 2,109
01 Al E& A %52 10,545 10,638 A 93
1. ZIEXRDIRWNEXA 10,545,000 10,545
2 8.436
- 2,109
P RNyl e e DN | 38,000 38,000 0]
Al 26,600
- 11,400
301 LBt A= 38,000 38,000 0
Al 26,600
- 11,400
01 Al E & A 462 38,000 38,000 0
1. 2B XRD| 242 XNH 38,000,000 38,000
Al 26,600
- 11,400
o =2 XL el X & 204,120 194,856 9,264
= 102,060
Al 102,060
101 e1214| 204,120 194,856 9,264
= 102,060
Al 102,060




SN Fo#=Y
Bu: oS NSEAHA RS
CHl T OOl A B0 E X| 2 CEEEED
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 JIZHHZ2XREES 204,120 194,856 9,264
1Ol X L Rrel K /Aol 2 el
204,120,000& 204,120
= 102,060
Al 102,060
O LBt LRl AHY 441,808 630,455 A 188,647
= 220,904
Al 220,904
101 14 Hl 441,808 630,455 A 188,647
=2 220,904
Al 220,904
04 JIZHHZ2XREE S 441,808 630,455 A 188,647
T I I NI
441,808,000 441,808
=2 220,904
Al 220,904
ZOHQIAIZHRI & XL el AF 102,708 0 102,708
= 51,354
Al 51,354
101 @14 Hl 102,708 0 102,708
= 51,354
Al 51,354
04 JIZHHZ2XNHEE S 102,708 0 102,708
1ROfO AIZFA LTINS ALY ol
102,708, 000& 102,708
= 51,354
Al 51,354
g A2XNEE X 27,361 0 27,361
Al 27,361
101 1A bl 27,361 0 27,361
Al 27,361
04 JIZHHZ2XNSE S+ 27,361 0 27,361
T2 HRXNEE X AFY
27,361,000 27,361
Al 27,361
Al 2EEFOH Q1 OFOFAF M2 AL S 91,284 44,238 47,046
= 73,027
Al 18,257
307 21201 A 91,284 44,238 47,046
= 73,027
Al 18,257
11T AR SXAIEE =X 91,284 44,238 47,046
1AL ZEEOH O QFDFAE T AFER 91,284,000 91,284
= 73,027
Al 18,257
O ESKE A 7,138,579 6,770,109 368,470




SN Eo=)
Hu: o HZO ASEBAHIA R=
S ZOHAMEFX R (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 4,638,653
Al 2,499,926
307 glz2tol & 7,138,579 6,770,109 368,470
= 4,638,653
Al 2,499,926
05 RIZHRIEt 3 7,138,579 6,770,109 368,470
.20 &S X & At 6,626,647,000& 6,626,647
= 4,638,653
Al 1,987,994
2.EMAEBSXNAANL (AMEBISERH)
511,932,000 511,932
Al 511,932
STSEML S = N ALY 11,046 0 11,046
= 7,732
Al 3,314
307 21201 A 11,046 0 11,046
= 7,732
Al 3,314
05 RIZt2IEt = 11,046 0 11,046
1.2SZMHAUEBSEL JHetsS 11,046,000& 11,046
= 7,732
Al 3,314
U ESANE ==X &2 6,816 6,816 0
201 £B-2dH| 6,816 6,816 0
01 At 22l 6,816 6,816 0
(2g9+¢) 6,816
LEHAESNRALS ARG I
=R = 70,0003 *8H 123 *60% 4,032
2.2 esSXA2NAMAARS 2 =1t
=R = 30,0003 *8H x63| *60% 864
.MU ESTAAMFMARARSZ 2 JI=
=R = 70,000 *8H *43| «60% 1,344
4 ZHUESXA0IAMFMARARZ S =t
=R =y 30,0003 *8H %43 *60% 576
ZO0iols 22 HE Ml AAS 1,090,459 1,043,873 46,586
= 763,321
Al 327,138
307 gl & 1,090,459 1,043,873 46,586
= 763,321
Al 327,138
05 RIZHRI & 3 1,090,459 1,043,873 46,586
T.EHOtS L EHE MHIAALY
1,090,459, 000& 1,090,459
= 763,321
Al 327,138
LI SS=A JHEAHE N2 345 900 A 555
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SH: Fog=g
M HOUNSO MISBNHIA PE
Chelr ROjQIAEOIE X &

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
1LEZUXSFEU2E MY 20,000,000& 20,000
Al 20,000
L XHE XA 65,000 0 65,000
Al 45,500
T 19,500
307 glz2tol & 65,000 0 65,000
Al 45,500
T 19,500
11T MISRASER 65,000 0 65,000
12T RHE X & A 65,000,000& 65,000
Al 45,500
- 19,500
O HESTAY X 10,200 10,200 0
307 21201 A 10,200 10,200 0
02 It S AHE L 10,200 10,200 0
T.Z0HQ THESTALY X3 10,200, 000& 10,200
ZOHQ 23tHME A X& 15,900 15,900 0
307 glz2tol & 15,900 15,900 0
02 PIZHEHAHEE 15,900 15,900 0
1T.Z20Q 2t E At XA 15,900, 000& 15,900
20t 22 22 € XA 1,570,450 1,608,950 /38,500
Al 1,429,500
T 140,950
s H & EECHH XA 1,570,450 1,608,950 238,500
Al 1,429,500
T 140,950
EP RS PNENE-| 41,250 51,250 A 10,000
201 24l 1,050 11,050 A 10,000
01 At 2t 2l 1,050 11,050 A 10,000
1LEE(E& ) M 80,000 10 800
2. 282 9 WA 50,0003 =54 250
203 YR =&l 4,000 4,000 0
03 Al F=XH R =AH| 4,000 4,000 0
1.F0d=E U A S RF A 4,000,000& 4,000
301 et d = 11,000 11,000 0
MIIEELd=3 11,000 11,000 0
| BEHAXNNSXNS(3.1R,B2E)
100, 000& »55% *23| 11,000
307 glz2+ol & 25,200 25,200 0
02 QIZtE M AMHEE 15,200 15,200 0
122U AN=E8E2XNEHHAS 15,200, 000& 15,200
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1. 289 & @At 1,550, 000& 1,550
HEX =dl XA 10,200 10,200 0
307 glz2+ol & 10,200 10,200 0
02 QIZtE M AHE X 10,200 10,200 0
1.8&&EX =d X 10,200, 000& 10,200
DEME=E KA 3,000 3,000 0
307 21201 A 3,000 3,000 0
02 LAFAAFEX 3,000 3,000 0
T OS5 3,000,000& 3,000
LictArE & 2F ALK& 9,000 9,000 0
307 2201 A 9,000 9,000 0
02 It M AHE L 9,000 9,000 0
T.LICHALE &t S ALK 9,000, 000& 9,000
Nass a2ty & 5,496,521 6,691,200 A 1,194,679
=2 4,445,492
X 97,929
Al 549,079
T 404,021
S Y =X K& A 958,800 932,800 26,000
= 702,000
Al 143,750
T 113,050
Ja2=X K& 877,500 877,500 0
= 702,000
Al 87,750
T 87,750
301 et d s 877,500 877,500 0
= 702,000
Al 87,750
- 87,750
01 MEIE2EZE 406z 877,500 877,500 0
12AS=XXE 877,500,000 877,500
= 702,000
Al 87,750
T 87,750
SIsth 23 80,000 25,000 55,000
Al 56,000
- 24,000
201 Let2dE] 2,000 2,000 0
Al 1,400
T 600
01 At 22l 2,000 2,000 0
(deregyl) 2,000
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301 et A= 78,000 23,000 55,000
Al 54,600
- 23,400
01 Ml EXEE 4562 78,000 23,000 55,000
1.=2XJIs0 X& 78,000,000 78,000
Al 54,600
- 23,400
WELISAMYE =8 1,300 1,300 0
201 gBt2Ad| 1,300 1,300 0
01 AP 2t 2| H| 1,300 1,300 0
(LBt=2H|) 1,300
1. usSUsSAMEgFRE 23 22|
16,000 x504 800
2.u0=sUHsSAIE 28 &8 HZ& 500,000 500
AHEFAFS 4,379,721 5,661,400 AN 1,281,679
= 3,743,492
N 97,929
Al 405,329
3 132,971
AHEHX & 3,501,300 4,385,464 N 884,164
= 3,150,000
Al 245,000
5 106,300
201 et 9| 1,400 1,400 0
01 AL 2t 2] H| 1,400 1,400 0
1.XED|2 Ao o &AL
70,000& 10 23] 1,400
206 M = dl 40,000 40,000 0
= 36,000
Al 2,800
- 1,200
01 X2 bl 40,000 40,000 0
1. XAE2Z2ALE 2 Y| 40,000,000 40,000
= 36,000
Al 2,800
- 1,200
301 Bt A= 2,059,900 2,944 064 N 884,164
= 1,854,000
Al 144,200
- 61,700
01 Al E & A 452 2,059,900 2,944 064 N 884,164
1. AEZ2ZAIE Y| 2,059,900, 000 2,059,900
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= 194,200
Al 83,230
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Al 11,520
K& AR 22l 26,680 25,636 1,044
= 18,680
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HE: HASS MEOE XL
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
305 Hal=s 35,400 25,000 10,400
01 Hia=S 35,400 25,000 10,400
TLHASFUUEZINSSH EAEHS
35,400,000 35,400
501 X3 120,000 70,000 50,000
01 gItEXt3 120,000 70,000 50,000
Mt E I ENS 10,000,000& =4 Al CH 40,000
2.FULSKNAEX=S 20,000,000 =4 All CH 80,000
NESAH B 311,109 316,056 A4,947
= 20,610
Al 73,950
- 216,549
A SAM2E &4t 311,109 316,056 A4,947
= 20,610
Al 73,950
- 216,549
A SAHEE S TH OB 4,364 2,864 1,500
201 et 2,664 1,164 1,500
01 At 22l 1,164 1,164 0
(der2=&Hl) 1,164
1A SASER2HE 60,0003 *5H 300
2. N SAEE2HH 2 M A 403 +5,600& 224
3. AR S AR E E 80,0003 »8H 640
02 2324l 1,500 0 1,500
1.2 SAHHE A=K A2l
1,500, 000& 1,500
206 M= Hl 1,500 1,500 0
01 = Hl 1,500 1,500 0
L HASAMHESSE 2L (ML)
1,500, 000& 1,500
303 Z& 3 200 200 0
01 243 200 200 0
TLAESARESSRIEE 100,000& »2H 200
SRANISAHEH2IHIX R 148,482 129,972 18,510
307 21201 A 148,482 129,972 18,510
05 RIZt2IE = 148,482 129,972 18,510
1.2 SAEEHS A X 148,482,000& 148,482
AN SAEE XA 146,863 173,820 AN 26,957
= 20,610
Al 73,950
- 52,303
307 21201 A 146,863 173,820 A 26,957
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= 20.610
Al 73,950
T 52,303
05 RIZtE = 146,863 173,820 N 26,957
1. A2 SAICIUOIH XA 41,220,000 41,220
= 20,610
= 20,610
2. S AR LA ALY 105,643, 000& 105,643
Al 73,950
T 31,693
S50ME Y 2E & RESAAMY & 5,000 3,000 2,000
307 glz2tol & 5,000 3,000 2,000
02 It M AHE X 5,000 3,000 2,000
1.50AtEH HE A2 & RS SAAYE X
5,000,000& 5,000
SX2 & SXNAE SAAYE X 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
02 It M AHE L 5,000 5,000 0
1.25X& & SXAE SAAY X2
5,000,000 5,000
ZF2Y o2 AxeIIAMY N 1,400 1,400 0
307 21201 A 1,400 1,400 0
02 It S AHE L 1,400 1,400 0
.22 024 &XelIAY X2
1,400,000 1,400
BZSAHY (FOB=D) 205,508 211,523 ~6,015
el 2 124,635 106,833 17,802
ol 2oyl 124,635 106,833 17,802
101 @124 dl 124,635 106,833 17,802
01 2= 92,329 78,306 14,023
AL Z22xE 92,329
ot.e=2 10,6823 x6H x34 Al 2t 12& 26,150
u.7=2 9,649% 8«34 Al 2t 12 31,495
Ct.8= 8,663 x7H «34Al 2tx 128 24,742
ct.9=2 7,8303 2 #34A| 2t 128 6,390
Ot. d 4 &I 88,777,000 *4% 3,552
03 RIAHAZ 2T E =+ 32,306 28,527 3,779
(R54R2H) 32,306
1.8+ 29,298
.20 (158 8) 1,509,350 «1H «12& 18,113
Lh. &2 1,509, 350 & *240% 3,623
Ct. B E F Ol 1,509, 350& »120% 1,812
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A & 0l & AF 2 E A A
20179 S04 LB H JIEISESIH A=Y ~ SF 2|
SN MER N
A =0 5 & XA
Sl =HOESAY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Mg &t 44,082,411 40,837,909 3,244,502
= 37,601,650
Al 4,553,914
- 1,926,847
=0 825 & XA 1,134,537 1,113,180 21,357
= 132,000
Al 1,002,537
=08 A 1,134,537 1,113,180 21,357
= 132,000
Al 1,002,537
=085 L ANE2Y 1,131,537 1,110,180 21,357
2 132,000
Al 999,537
307 21201 A 1,131,537 1,110,180 21,357
= 132,000
Al 999,537
01 92724l 40,000 25,000 15,000
1.0 ZHl K& 40,000,000& 40,000
Al 40,000
10 ALl SXAIEEE2EHEX 902,966 896,609 6,357
T.e=0AE 29XH 902,966,000 902,966
Al 902,966
11T AR S XA E =X 188,571 188,571 0
Tese ez 0a X 142,857,000& 142,857
= 100,000
Al 42,857
2.-=QR )| 2SR 45,714,000 45,714
= 32,000
Al 13,714
L0 E8H(AM)I 2=XE 3,000 3,000 0
Al 3,000
307 21201 A 3,000 3,000 0
Al 3,000
11T MISAASEEX 3,000 3,000 0
T.e=0 E5HAM)Il 2=SXH 3,000,000 3,000
Al 3,000
=RIBIE RS 42,295,974 39,173,454 3,122,520
= 37,377,445
Al 3,528,326
- 1,390,203
20N (A=2S0HI=EL3HAH) 644,744 471,938 172,806
= 515,795
Al 128,949
o=z2=0 644,744 471,938 172,806
= 515,795
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S 23X (A2 20HII=EESAH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 128,949
201 LBt Y| 16,020 16,020 0
= 12,816
Al 3,204
01 AP 22| d| 13,020 13,020 0
(Lt H|) 7,440
1.9 28 RPUSAA 200,000& x11=& 2,200
= 1,760
Al 440
2 oS 2HYRFTANEROEHEY,IECIXF
s 300,000& x113] 3,300
= 2,640
Al 660
3.9 2202 ATEY 2L 1,940,000 1,940
= 1,552
Al 388
(At EHI|) 1,800
1.9 2280 Y RAE NFH|
300,000 *3H x23| 1,800
2 1,440
Al 360
(294dY) 420
1.9 HAARAJSB =S 70,000 x2H *33] 420
= 336
Al 84
(=2Hdl) 3,360
1.9 2300 Y RFA S|
7,000 x5H x84l x 128 3,360
= 2,688
Al 672
02 2324 3,000 3,000 0
(222 HA) 3,000
1.9 2 20HYERLRER= 3,000,000& 3,000
= 2,400
Al 600
202 044l 6,000 6,000 0
= 4,800
Al 1,200
01 2L Y| 6,000 6,000 0
1.923 022X =0
20,000 x5 x3%H x 128 3,600
= 2,880
Al 720
2.9 220 2A=SH N 200,000 *4H x33| 2,400
= 1,920
Al 480
307 21240 620,895 448,089 172,806
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SN MERND
Hu: R0 EMBEE
H?: MASSIZMEEH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HHSH KX 40,253,000 36,892,000 3,361,000
= 36,012,000
Al 3,041,000
- 1,200,000
301 gtE L= 40,253,000 36,892,000 3,361,000
= 36,012,000
Al 3,041,000
2 1,200,000
01 M2I2EZE+06l= 40,253,000 36,892,000 3,361,000
=2 H8A=SH 40,253,000, 000& 40,253,000
= 36,012,000
Al 3,041,000
- 1,200,000
WESHXH 38,542 21,206 17,336
308 XXM SO0 A 38,542 21,206 17,336
08 WEII20HStE X 38,542 21,206 17,336
T2 usa0 38,542,000 38,542
o AHEHI = O 255,500 284,440 A 28,940
= 229,950
Al 17,880
- 7,670
301 et a3z 255,500 284,440 228,940
= 229,950
Al 17,880
- 7,670
01 AR 2ZH 53 255,500 284,440 A 28,940
ToHAEH S 255,500, 000& 255,500
= 229,950
Al 17,880
T 7,670
otk 127,194 204,626 NTT,432
= 101,700
Al 12,747
- 12,747
301 et d s 127,194 204,626 ATT,432
= 101,700
Al 12,747
- 12,747
01 MEI2EZE 405z 127,194 204,626 ANTT,432
LAy Ie=sgeX 127,194,000& 127,194
= 101,700
Al 12,747
- 12,747
x2S NL3XA 518,000 817,000 A 299,000
= 518,000
301 et a = 518,000 817,000 A 299,000
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ins H

Ol b 024
0z B

o 0zt

P 1
0= HI

S

HL
02

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 518,000
01 MEIBZE 06z 518,000 817,000 A 299,000
122k 20X 3| 518,000,000 518,000
= 518,000
HASSALEE=XH 19,000 19,000 0
Al 19,000
301 L2 AF 19,000 19,000 0
Al 19,000
01 MEIBEE 253 19,000 19,000 0
1L HASEHLEE= 19,000,000& 19,000
Al 19,000
AL XA 52,000 50,000 2,000
301 et a3 52,000 50,000 2,000
01 A3l EE E 56l = 52,000 50,000 2,000
1. 2282 XH 52,000,000& 52,000
HASE st WSEH K& 36,750 0 36,750
Al 36,750
101 124 dl 32,340 0 32,340
Al 32,340
04 JIZHHZ2XREE S 32,340 0 32,340
T HASZE s wsHl XA 32,340,000 32,340
Al 32,340
201 Let24d] 4,410 0 4,410
Al 4,410
01 At 2teltl 4,410 0 4,410
(deregyl) 4,410
1LHASS M WSl X AF 29H S
4,410,000 4,410
Al 4,410
HAHNE JI2HEEH 272,000 344,500 AT72,500
Al 272,000
301 et a3 272,000 344,500 AT72,500
Al 272,000
01 A3l EE H =56l = 272,000 344,500 AT72,500
1 HUYAHS S22l 272,000, 000& 272,000
Al 272,000
MNI=XNERETAMIISRLAXN A 67,500 57,000 10,500
301 LtE L= 67,500 57,000 10,500
0B A =RRAZB LS 67,500 57,000 10,500
AR EXNHREEXZUAZRRIAS AU
6,000 «45H x250 67,500
SSUENALEH 1,540 1,540 0
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2N
X ZH -
L= B

el

=0z
B 1o i
ins H
Ol b 024
0z B
o 0zt

P 1
0= HI

S

HL
02

SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
201 Le-2d| 1,540 1,540 0
01 At 22l 1,540 1,540 0

(fer24ddl) 1,540
1. SETAES MY 1,000, 000& 14 1,000
2.2 INEEHESEFRY 180& *3,0000H 540
sSgeIRFA 3,534 3,534 0
201 LBH2E | 3,534 3,534 0
01 At 2t 2l 684 684 0
(deredyl) 684
1. 835874 80& *9,5000H x90% 684

02 =224l 2,850 2,850 0
(B223LHA) 2,850
1.OHUHBEERERS 300& +9,500H 2,850

IS (M2 397,900 357,072 40,828
= 92,205
Al 23,051
- 282,644

ol 2l 165,646 142,172 23,474

ol 2A Y| 165,646 142,172 23,474
101 @124l 165,646 142,172 23,474
01 2=+ 129,248 111,003 18,245

T AZRZ2RE 129,248
Jt.6=2 10,682% x7H «34 Al 2t 12& 30,508
.72 9,6493 «6H «34Al 2tx 122 23,621
Ct.8= 8,663 9«34 Al 2t+123 31,811
ct.ozg 7,830 *12Z «34 Al 2tx 128 38,336
Ot. d &Yl 124,276,000 *4% 4,972

03 RIAHAA2Z2RE > 36,398 31,169 5,229
Olzdgx3TA22) 31,298
1.8+ 28,384
J.2W(10ss 1,461,700 x1H x 123 17,541
Lh. &2 1,461,700 »240% 3,509
CH.2EF Y| 1,461,700 »120% 1,755
ch. B UG A 130,000 x1H x12& 1,560
Ot nEE =4l 70,0003 x 1 128 840
g A28
9,349& *150%*10Al 2t 128 1,683
A LA E 74,7923 x1H 20 1,496
2ANEXNRE BEEE 2,914
b NEEEE 28,384,000& x1.5% 426
Lt. 20 EE R 28,384,000 x4.5% 1,278
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SN MER N
M HHSHAH (MBI
Sel: o2y (B9 ®R)
5 - 4
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
CHAHEE = 28,384,000 x1.0% 284
ch.ZoAHAESE S 28,384,000 *x3.06% 869
O S &E)IQYBE=2 869,000 *6.55% 57
(2230 22l A 5,100
1. HESIHH| (A, =4) 850,000 *3%H x23| 5,100
JlE&dl 116,998 107,041 9,957
Jl2 &4l 116,998 107,041 9,957
201 Bt 23,848 21,856 1,992
01 AP 22| H| 23,240 21,248 1,992
(get=29| 5,600
1. 2AS2HE4+=H 200,000& 359 *80% 5,600
(S H|) 17,640
MBI YAREEI =S A
7,000 *x35H 64! x 128 17,640
02 2324 608 608 0
(ZZ22LYLHA) 608
1.2E2 608
JF. Bt 300& *x40S *12& 144
L. S2I 1,930 +20=E 122 464
202 04| 87,900 79,800 8,100
01 2Ll 52,800 52,800 0
VHMESENALFAI 20
20,0002 x 102 *x22H x12& 52,800
02 EHNHI 35,100 27,000 8,100
1.SEEXIANG2FTIE A Y|
225,000 x 13 ~12& 35,100
203 &R =T Y| 4,050 3,888 162
04 EASHEYRFAH| 4,050 3,888 162
1.2 350,000& x12& *90% 3,780
2. =1 5,000 x5H x12& *90% 270
204 &R = A H| 1,200 1,200 0
01 Mg HRSHAH| 1,200 1,200 0
1. 8B AHR2F Y| 100,000& x 18 x12& 1,200
OS2 HY(ARB0IIBSLEH)(ARSHIISSLS 115,256 107,859 7,397
)
= 92,205
Al 23,051
oled A | 115,256 107,859 7,397
= 92,205
Al 23,051
101 e1214| 115,256 107,859 7,397
= 92,205
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MERY
BRSPS AL (MERED)
AIHERIH(YSSHIISSLEIA)(AZSHIISSEIA) )
SA-EY- S (SH) - MBAY - B O &t 04 il 2
Al 23,051
03 RIAHAZZ2TE = 115,256 107,859 7,397
(22022l Ed) 115,256
1.8 91,320
b.2¢ 1,990,300 x3H x12& 71,651
= 57,321
Al 14,330
Lt. =&l 20,0003 «13L x3H 123 9,360
= 7,488
Al 1,872
Ch. A2+l =Y 14,3173 x20 Al 2«3 x 128 10,309
2 8,247
Al 2,062
2. NEEE = 91,319,000& *1.5% 1,370
= 1,096
Al 274
3.3 aEE= 91,319,000& *4.5% 4,110
= 3,288
Al 822
4. 2UALEEZ 91,319,000 *3.06% 2,795
= 2,236
Al 559
584MEEZ 91,319,000& x1.0% 914
= 731
Al 183
6.ZIAEBEE 2,795,000& *6.55% 184
= 147
Al 37
7.EXNSHEES 199,030& x3H x12& 7,166
= 5,733
Al 1,433
8. ™ 2 I & dl 91,319,000 *8. 1% 7,397
= 5,918
Al 1,479
HRess(Me82 ) 254,000 194,203 59,797
BEXNE(A2S0IISELEIA) 254,000 194,203 59,797
gret=a 153,564 79,030 74,534
802 BHEt 3 DI Ef 153,564 79,030 74,534
NEFCEEEEE 122,853 63,224 59,629
1. 208X 30E 122,853,000& 122,853
02 Al - SHIBXEZ e = 30,711 15,806 14,905
T.ASHEXZeEz 30,711,000& 30,711
= gl = 100,436 115,173 AN14,737
802 Btk = J| Et 100,436 115,173 AN14,737
EETEE 100,436 115,173 A 14,737
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H3r
Wikd
RIS

Off &t 24

100,436

2

100,436,000

ulo
ol
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il




—— A
N = 0] &F AF S & AN A
20178 = 20 A LEHSIH L JIEISES H Fosi=20 ~ sH 22
A IFEX N
Hau: Lo =X 57
Sl FER2M Y LAUSTAY X CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
IIE=S X 196,863,463 194,360,077 2,503,386
= 117,534,994
Al 57,010,757
- 22,317,712
= 21X & 95,884,525 95,443,895 440,630
= 62,057,201
Al 21,175,253
- 12,652,071
L & To=EXAYE X 88,310,470 87,588,469 722,001
= 60,613,942
Al 17,503,510
- 10,193,018
LOIAISI E2SXAE XS 4,481,672 4,113,414 368,258
= 2,240,836
Al 2,240,836
101 e1214| 654,142 495,742 158,400
= 327,071
Al 327,071
04 JIZH22NEE S 654,142 495,742 158,400
LCoANSESHAANLESARY
200,000 »348% 92 626,400
= 313,200
Al 313,200
2.8 )|2E X0l 2l 27,742,000 27,742
= 13,871
Al 13,871
201 B9 48,720 36,400 12,320
= 24,360
Al 24,360
01 AP 22| d| 48,720 36,400 12,320
1.EQAS S XS ASE =24 48,720,000 48,720
= 24,360
Al 24,360
307 QI2t0| ™ 3,778,810 3,581,272 197,538
= 1,889,405
Al 1,889,405
11T A EXAIEEX 3,778,810 3,581,272 197,538
1. EQAS ES XA (28I R)ESCE2
3,106,800,000& 3,106,800
= 1,553,400
Al 1,553,400
2. OAISIES XA (=D 2)=2|
505,558,000 505,558
= 252,779
Al 252,779
3. QA ESXAIE (28D Z)EX0E0E
! 166,452,000 166,452
= 83,226




AN OFE=SX B
Hu: Lol =X EA
&€ 220U ¥ LASIAYE K& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 83,226
LN SANECH2E 2SI 24,000 24,000 0
Al 12,000
- 12,000
301 gtE L= 24,000 24,000 0
Al 12,000
- 12,000
1M1IIEELSS 24,000 24,000 0
TN sANCdesR
50,0003 x40 «12& 24,000
Al 12,000
- 12,000
J=3 83,390, 151 82,866,406 523,745
= 58,373,106
Al 15,010,227
- 10,006,818
301 e Az 83,390, 151 82,866,406 523,745
= 58,373,106
Al 15,010,227
- 10,006,818
01 Ml2ZE 6= 83,390, 151 82,866,406 523,745
1.3 83,390, 151,000& 83,390, 151
= 58,373,106
Al 15,010,227
- 10,006,818
Z2RU0ISLAXA 48,000 48,000 0
301 et a = 48,000 48,000 0
MIEEd=s 48,000 48,000 0
1. 222U EL LN A
100,000& 4000 A+ 123 48,000
ZZH=U3 33,400 33,400 0
201 ¢er24| 18,400 18,400 0
03 A2 Z Hl 18,400 18,400 0
1. AU SX S 800,000 +230 = 18,400
307 21201 A 15,000 15,000 0
11T M SRASEX 15,000 15,000 0
1. 22HslzEl 30,000& x500H 15,000
ALINZ2E23Z 260,447 269,849 29,402
Al 240,447
- 20,000
307 21201 A 260,447 269,849 A9,402
Al 240,447
- 20,000
10 AL SXNAIEEE2EHEX 260,447 269,849 29,402
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S HESXD
HH: Lo =X B
&€ 220U ¥ LASIAYE K& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
.ol dXel#ESS NI AMIALI0SER2SE
256,847,000 256,847
Al 236,847
T 20,000
2. ANAMBALASEESAMXN=E 3,600,000 3,600
Al 3,600
theteolsl =2 X3 X & 72,800 59,400 13,400
307 glz2tol & 72,800 59,400 13,400
03 QIAHMNHE2IHIEE 53,400 40,000 13,400
T.Hetc Qe =+ X223l 53,400,000 53,400
11 AL S RALEE = 19,400 19,400 0
1.2 iEedy 19,400,000 19,400
22 Y LASEXNAE 28 XA 5,119,384 5,402,479 A 283,095
= 363,702
Al 2,995,025
T 1,760,657
Z2Y2IYLELSXA 169,106 350,877 A181,771
201 ¢4l 59,786 256,557 A196,771
01 At 2t 2l 59,786 255,507 A 195,721
(Ler==gHl) 5,786
LE2YFINAHECAMELE
57,860 *1000H £ 13 5,786
(dxrz) 54,000
.52 SUHAFTAXNE
54,000,000& 54,000
307 gl2tol & 109,320 94,320 15,000
11T ALS S RAEE = 109,320 94,320 15,000
1. Z22E &3 T2 2| X XA
22,800,000 22,800
2. BZ2EEIIE S AIS I 18,720,000& 18,720
. EZEESXNJAHH2IY| 67,800,000 67,800
Z2Y2IH Y HLHX R 848,211 848,211 0
Al 227,208
- 621,003
307 21201 A 848,211 848,211 0
Al 227,208
- 621,003
10 ALSISXAIEEE2IHEX 848,211 848,211 0
1.EEZZE2IHILHHHINSA
848,211,000 848,211
Al 227,208
- 621,003
LZANE2G XA 519,574 585,116 A 65,542
= 363,702
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2N
M Lol =5

el

Lo = &l

=
=)
A2Y U zoA=IANE 2Y

rE=X 0
|
|

A&

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Al 155,872
307 QI2t0| ™ 519,574 585,116 N B5,542
= 363,702
Al 155,872
10 Al SEXAIEEE2IHIEX 519,574 585,116 N B5,542
1LYZAL2HH X & 519,574,000% 519,574
= 363,702
Al 155,872
LOIQAANES2IXE 476,655 466,655 10,000
Al 476,655
307 212t0| & 476,655 466,655 10,000
Al 476,655
10 AIRISEXAIEEHE2IHIEX 476,655 466,655 10,000
1. UYZANEESHLQLAAESAANSE
344 ,040,000& 344,040
Al 344,040
2.0 QRAUANE S2AA XA
132,615,000& 132,615
Al 132,615
MO SXNALA2I XA 920,738 916,960 3,778
Al 920,738
307 QI2t01 ™ 920,738 916,960 3,778
Al 920,738
10 Al SEXAIEEE2IHIEX 920,738 916, 960 3,778
TR RAAMEA 2D 920,738,000& 920,738
Al 920,738
ASXNee s XA 514,000 563,800 AN 49,800
Al 411,200
- 102,800
307 212t0| & 514,000 463,800 50,200
Al 411,200
- 102,800
10 Al SXNAIEEE2IHIEX 514,000 463,800 50,200
1. A&XN0eel J|dsn 89 514,000,000& 514,000
Al 411,200
- 102,800
HestoS3dEe2Y 19,140 18,900 240
201 Bt A H| 17,340 17,100 240
01 At 22l bl 9,600 9,360 240
(get==24|) 1,440
1. 8B 2| 120,000& = 12& 1,440
(LX) 960
1. 84J|9X 2 40,000& =20 12 960
(2g94+%) 7,200
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M NESXD
!
|

¥ Lol =X 53
Sl 2P U LA=TAL 2 XL (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
1. E2 ) SH2AAIE
50,000& x6H *2 Al 2tx 12 7,200
02 2224 4| 7,740 7,740 0
(222 YA 4,590
1. 80|12 250,000 x12& 3,000
2. 8405l 2 25,000 x12& 300
.G XH A 90,000& *13] 90
4. SN = 100,000 123 1,200
(Al ZHI K XHl) 3,150
1.8AAESERANES 800,000 =14l 800
2. 2HIYEE(148) 47,000,000 *5% 2,350
307 212t0| ™ 1,800 1,800 0
05 QIZtREZ 1,800 1,800 0]
1.2 =2 150,000& »12& 1,800
Losxa X3 1,651,960 1,651,960 0
Al 803,352
- 848,608
307 2Iz2t0| & 1,651,960 1,651,960 0
Al 803,352
- 848,608
05 QIZ2tR EF 2 1,651,960 1,651,960 0
1.2 X 2012t E 1,651,960,000& 1,651,960
Al 803,352
3 848,608
MNAEES MO LoES 1,775,671 1,565,947 209,724
= 1,079,557
Al 676,718
- 19,396
LosgliaMdgAXd 633,400 571,298 62,102
= 443,380
Al 190,020
307 2iztol & 633,400 571,298 62,102
= 443,380
Al 190,020
11 A SAAEE X 633,400 571,298 62,102
1. =038 AHIA 633,400,000& 633,400
= 443,380
Al 190,020
LOAESSESS8NEAHIIER 813,951 638,070 175,881
= 569,766
Al 244 185
307 QI2t0| ™ 813,951 638,070 175,881
= 569,766
Al 244 185
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2N
X ZH -
L= B

el

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
11 AMIASANAEE X 813,951 638,070 175,881
1. LS8 MU ASIIEX 813,951,000 813,951
= 569,766
Al 244 185
SOOI JFAFA HI A 3,031 21,624 AN 18,593
= 2,122
Al 909
307 212t0| & 3,031 21,624 A 18,593
= 2,122
Al 909
11 A SXNAEE X 3,031 21,624 AN 18,593
1D IFAEA HI A 3,031,000& 3,031
= 2,122
Al 909
SHLOAIS 2 HE S SHAIS X & 50,000 50,000 0
= 35,000
Al 15,000
307 212t0| & 50,000 50,000 0
= 35,000
Al 15,000
11T A EXAIEE X 50,000 50,000 0
1. SHEAMIZHELIAIS XA
50,000, 000& 50,000
= 35,000
Al 15,000
SN =EsEANEHARYE 30,000 30,000 0
Al 30,000
307 212t0| & 30,000 30,000 0
Al 30,000
11T A SXAIE EX 30,000 30,000 0
1.5HLAESEANHA 22 30,000, 000& 30,000
Al 30,000
SNHLEAEF=SI ==X 41,000 20,000 21,000
Al 41,000
307 QI2t0| ™ 41,000 20,000 21,000
Al 41,000
11 AMIASAAEE X 41,000 20,000 21,000
1. 25HLAZH=EE I Z2EXE 41,000, 000& 41,000
Al 41,000
Lol AHAZRICH 2,269 2,269 0
Al 2,269
301 et A= 2,269 2,269 0
Al 2,269
01 M EXEE G2 2,269 2,269 0
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AN OFE=SX B
M Lol 2% =X
@2 HASE ML =92ES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oAz as 2,269,000& 2,269
Al 2,269
Z2RES4MAL 29 19,872 19,872 0
Al 19,872
307 21201 A 19,872 19,872 0
Al 19,872
11T MISRASEX 19,872 19,872 0
1.22R2s48a 29 19,872,000& 19,872
Al 19,872
MASTHO - QLA A & ALY 118,818 118,818 0
Al 118,818
307 21201 A 118,818 118,818 0
Al 118,818
11T AL SXAEE = 118,818 118,818 0
T HASSMIOE I L BHEX ALY
118,818,000& 118,818
Al 118,818
SN - SEHMY S=AqHMHI A 58,578 90,396 231,818
= 29,289
Al 14,645
2 14,644
307 21201 A 58,578 90,396 231,818
= 29,289
Al 14,645
2 14,644
11T M3 SXAISEEX 58,578 90,396 A 31,818
1.2 - S SSAEAMHIA
58,578,000& 58,578
= 29,289
Al 14,645
=) 14,644
Clrgeorfaag Al A 4,752 3,600 1,152
201 et 4,752 3,600 1,152
01 At 22l 4,752 3,600 1,152
(ger=&dl) 4,752
1.OXNEARLE MU A =2
3,300 «1208 128 4,752
F2E & L=XNAE JIsE 679,000 887,000 208,000
ZERESUALNESKXA 679,000 887,000 208,000
401 AIEHI L 20 223,000 721,000 A 498,000
01 A& HI 223,000 721,000 A 498,000
1. 228 2 Lo =X2 &3
200,000, 000& 200,000
2.0lgZ2H M= 23,000,000& 23,000
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M AE=EX
I Lol 2]
(=R B

|

F Ol
°
Jr

©el BRY 9 AN Jls2

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
405 XHoHF S HI 456,000 166,000 290,000
01 AL ESFH S 456,000 166,000 290,000
THEz2d s &7 30,000, 000& 30,000
2.2 2E X000l 276,000,000 276,000
.HH=Z=Y Ml 150,000, 000& 150,000
Oy .ots=X &8 11,649,133 11,830,204 A 181,071
= 3,939,613
Al 5,915,461
T 1,794,059
ots=2X & 9,876,429 10,323,920 ANA447 491
= 2,791,287
Al 5,421,673
- 1,663,469
Ots=XAEX A 2,224,316 2,909,697 A 685,381
Al 2,224,316
307 glz2tol & 2,224,316 2,377,877 A 153,561
Al 2,224,316
10 AL SXAIEEE2EH EX 2,224,316 2,377,877 A 153,561
1.0t = XA 4 22l 2,068,810,000& 2,068,810
Al 2,068,810
2.0tSSXIAIEOtS K2 (AMBISERIH)
155,506, 000 155,506
Al 155,506
OtS=XAE JIs2S 50,000 0 50,000
= 25,000
Al 25,000
402 RIZEX20l ™ 50,000 0 50,000
= 25,000
Al 25,000
01 U2 EAILE X (XA ) 50,000 0 50,000
1.0ts=XANE JIsEZ ALY 50,000,000& 50,000
= 25,000
Al 25,000
OLS =X DAKI & 336,000 336,000 0
= 168,000
Al 84,000
- 84,000
101 @124l 336,000 336,000 0
= 168,000
Al 84,000
- 84,000
04 JIZHHZ2Z2XNHESE S+ 336,000 336,000 0
1.0SS X W ALK & (259) 336,000, 000& 336,000
= 168,000
Al 84,000
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2N
X ZH -
L= B

el

rE=X 0
Hd.ots=A 5d
Ot==EX &

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| - 84,000
OrsdR=a 4,330 4,330 0
201 €2l 1,330 1,330 0
01 At 22/l 1,330 1,330 0
(2g=¢) 1,330
1.0ls=24 A3 =& 70,000 82 *23] 1,120
2.0l01 S 20IAL I 2R H AR RS &A=
70,0003 *3E * 12 210
203 ¥ S =&l 3,000 3,000 0
03 AIZ=XH 2 =AH| 3,000 3,000 0
1.0 ® & IIE=XNYRF=AH
3,000,000& 3,000
2ESltss4 A 2,455,200 2,423,220 31,980
Al 1,704,600
- 750,600
301 et a3z 2,455,200 2,423,220 31,980
Al 1,704,600
- 750,600
01 MEI2EE 263 2,455,200 2,423,220 31,980
1.0l A TAA X 540,000,000& 540,000
Al 405,000
T 135,000
2.0t=sSASAXE (LSHESH3 H645,5408
) 1,915,200, 000& 1,915,200
Al 1,299,600
T 615,600
Ot= <2< XI& A X 174,100 131,808 42,292
= 121,870
Al 52,230
301 et d = 174,100 131,808 42,292
= 121,870
Al 52,230
01 MEI2EZE+5l= 174,100 131,808 42,292
1.0t 22X & A & 174,100, 000& 174,100
= 121,870
Al 52,230
ANE0tsdH 29 2,657,160 2,596,232 60,928
= 1,213,380
Al 837,090
T 606,690
307 21201 A 2,657,160 2,596,232 60,928
= 1,213,380
Al 837,090
T 606,690
10 ALSISXAIEEE2EHEX 2,657,160 2,596,232 60,928
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M NESXD
HH: 04 OISEX SX

©°el: ots=EA sd (22 &d)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2

TASG0tSHEH 2 2,426,760,000& 2,426,760
= 1,213,380
Al 606,690
- 606,690
2. NG 0otSHEHS M= 230,400,000& 230,400
Al 230,400

Ex0tSTHE XS 45,000 56,000 211,000
Al 41,250
- 3,750

301 €EtE 4= 45,000 56,000 A 11,000
Al 41,250
- 3,750

01 MBIEEZ X +dl= 45,000 56,000 A 11,000
1LEAOISNHEEHS 45,000,000 45,000
Al 41,250
T 3,750

LAOS =9 K& 153,600 157,827 N4, 227
= 103,320
Al 50,280

301 LetE s = 153,600 167,827 N4, 227
= 103,320
Al 50,280

01 M2 X 0= 153,600 157,827 N4,227
1820t F=Y N 145,800,000& 145,800
= 102,060
Al 43,740
2. UY=H I U2 XA 1,800, 000& 1,800
= 1,260
Al 540
3.YL=ot= N& 6,000,000& 6,000
Al 6,000

LESOHSIEEEH 25XE 184,944 147,696 37,248
= 56,817
Al 128,127

307 212t0l & 184,944 147,696 37,248
= 56,817
Al 128,127

10 M SXNANEEHE2SHES 184,944 147,696 37,248
1.2250s 28222 XN& 142,044,000 142,044
= 56,817
Al 85,227
2.0t SIS ESMAE XIE 20,160,000& 20,160
Al 20,160
.08 E Es0ts XNE 22,740,000& 22,740
Al 22,740

OtOl S A Y 1,173,657 1,137,000 36.657




M SRS
¥ 4. 0ls8EX 2

el ots=sX EX (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 827,560
Al 176,048
T 176,049
307 i+l & 1,173,657 1,137,000 36,657
= 821,560
Al 176,048
T 176,049
11 ASISAAISEE =X 1,173,657 1,137,000 36,657
1.0t0l1=8 XN& 1,173,657,000& 1,173,657
2 821,560
Al 176,048
- 176,049
CEAEIEAY 300,000 300,000 0
= 270,000
- 30,000
101 1A Hl 111,954 107,300 4,654
= 111,954
M4 JI2HZEXNSES 111,954 107,300 4,654
1iles0lsas+A12+2) 94,800,000 94,800
= 94,800
2ANBUHRY BE= 9,954
.20z EER 81,600,000& *4.5% 3,672
= 3,672
L. 2422882 81,600,000 *3% 2,448
= 2,448
.oV AEE= 2,448,000& *6.55% 161
= 161
. MATHEE S 81,600,000 x3. 1% 2,530
= 2,530
ot.DE28= 81,600,000 *1.4% 1,143
= 1,143
.EIAEE 3 1,800,000 4 »1& 7,200
= 7,200
201 L2l 69,964 86,464 A 16,500
= 69,964
01 At 22l 68,764 85,764 A 17,000
(get=&Hl) 61,302
12208 X L2 45,602,000 45,602
= 45,602
2. CEAEIENHR2Y R XU 10,000, 000& 10,000
= 10,000
.EZABEMSEESME 5,000,000& 5,000
= 5,000
4. CEAEBIEEES A F Y T A2l
700,000& 700
= 700
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M SRS
¥ 4. 0ls8EX 2

gl ots=EX 5d (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
(2g=¢) 3,430
|CYABESSAB BN LY
70,0003 7 *73] 3,430
= 3,430
(=&l) 4,032
1.EYABHEYRFIAS I
7,000 8«6 12 4,032
= 4,032
02 =224l 1,200 700 500
1.2ERS 1,200,000& 1,200
= 1,200
202 044l 7,740 7,740 0
= 7,740
01 SLHOYI 7,740 7,740 0
1LEEABHEFIWNSEII0HI
140,000 »7H 33| 2,940
= 2,940
2. SR AEIEUIAOIEI 0l 3 ZALOHHI
20,000 x5 »4H <123 4,800
= 4,800
301 et a = 100,342 86,796 13,546
= 70,342
T 30,000
01 MEIBEE 263 99, 142 85,596 13,546
1.EEAHEZZOHRIREA 99,142,000 99,142
= 69,142
T 30,000
NJIEEd=s 1,200 1,200 0
T ARAESA=E 1,200,000& 1,200
= 1,200
307 glz2tol & 10,000 10,000 0
= 10,000
01 922724l 10,000 10,000 0
1.2 2 X 10,000,000& 10,000
= 10,000
Helol s0lAlE 22l 2,050 7,610 25,560
201 L Et2A | 2,050 2,610 A 560
01 At 22l bl 50 610 A 560
.okt W= 50,000& 50
02 =224l 2,000 2,000 0
1.0{&0l=0lAlE &2 2,000,000& 2,000
Oi2l0I0F #=8 M&aeSD| 6,000 6,000 0
307 glztol & 6,000 6,000 0
04 QIZHHALALE B = 6,000 6,000 0
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2N
X ZH -
L= B

el

rE=X 0
Hd.ots=A 5d
Ot==EX &

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
.20 03 & 6,000,000& 6,000
gads Na 16,200 15,000 1,200
= 11,340
Al 4,860
301 L2 A S 16,200 15,000 1,200
= 11,340
Al 4,860
01 MEIBZE 263 16,200 15,000 1,200
1.82H8 XA 16,200,000& 16,200
= 11,340
Al 4,860
A2EAEHINE & JIERES =X 93,872 95,500 A1,628
Al 93,872
301 L2 A Z 93,872 95,500 21,628
Al 93,872
01 Al EE H =06l = 93,872 95,500 A 1,628
1T.A8AEHNMELINERAEOts XA
93,872,000 93,872
Al 93,872
HEASIEHEN 2 MBI 1,772,704 1,506,284 266,420
= 1,148,326
Al 493,788
- 130,590
Hdls2steska 31,500 21,500 10,000
307 21201 A 31,500 21,500 10,000
02 QIAFLANGFEX 1,500 1,500 0
TLUSEHLEH N 2Y 1,500,000 1,500
11T ASI S RAEE = 30,000 20,000 10,000
1.8 =s0ototHol2Y 30,000, 000& 30,000
HEdASA 10,000 10,000 0
307 2Iz2t0l A 10,000 10,000 0
02 RIZFE MM E X 10,000 10,000 0
THEEW, 8325 & 282
10,000, 000& 10,000
OlSZSHIXA(SHRE2IIE) 995,449 824,900 170,549
= 751,179
Al 244,270
301 gEtE 4= 995,449 824,900 170,549
= 751,179
Al 244,270
01 A3l EE & 56l = 995,449 824,900 170,549
1.8220E ots2=|d 8 XN
938,974,000 938,974
= 751,179
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M NESXD

M 4. ots=K A
Sl CIMAGIBOI U MBI CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 187,795
2.8 22IFXH wWsHl X 47,075,000& 47,075
Al 47,075
J.SHREENENEHRUME XA 9,400,000 9,400
Al 9,400
FI OIS SHXA(SHER2IIE) 9,327 0 9,327
2 7,462
Al 1,865
301 et a3 9,327 0 9,327
= 7,462
Al 1,865
01 Ml2ZE 6= 9,327 0 9,327
1.8#22IXHFFI ots2LsH XA
9,327,000 9,327
= 7,462
Al 1,865
OIS DSH (EIMSESY) N (HRIIHE) 16,424 0 16,424
= 13,139
Al 3,285
301 LBt A 16,424 0 16,424
= 13,139
Al 3,285
01 MI28E 6= 16,424 0 16,424
1.68/220s 204 sE3H XA
16,424,000& 16,424
= 13,139
Al 3,285
HASR22XINHE KA 49,492 64,800 215,308
Al 47,092
- 2,400
301 L2 A3 49,492 64,800 A 15,308
Al 47,092
- 2,400
01 Ml28E 6= 49,492 64,800 A 15,308
T HASZ2 . 2XIEMUB=HZH A
4,800,000 4,800
Al 2,400
- 2,400
2MASE . 2RNILEINA X A
44,692,000 44,692
Al 44,692
OlSYSH XN (HAEERR) 3,738 5,425 A1,687
= 2,990
Al 748
301 LBt A 3.738 5,425 A 1,687
= 2,990
Al 748
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A 858
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A 240
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H3r
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5,425
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2,900

2,900
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11,140
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11,140

Off &t 24

3,738
3,738
2,990

fir

748
1,854
1,483

Al
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Al
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1,854

Al

1,854
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fir

371
406
325

Al

fi

Al
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Al
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Al

2,900
2,000
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900
2,900
2,900
2,000

Al
Al
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10,900
5,450
5,450
10,900
7.240
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Al
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COESAHY

g 0ts=ER 58
D GIHASI ORI L MENX S CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 1,830
Al 1,830
HSESISEHEI ALY 2,000 2,000 0
201 £B-2d| 2,000 2,000 0
01 At 22l 2,000 2,000 0
(RIE. W=HI) 2,000
1 HdEIS2AEI} WS 1,000, 000& 23| 2,000
AXs Hojal A Hd235 A 700 700 0
201 Let24d] 700 700 0
01 At 2teltl 700 700 0
1.5 8 . S0H0H . &2 D)1= ISTME
300,000& =23l 600
2. 8+=UNH S 50,000& »23| 100
OG2stEXJAdH2 I 490 490 0
201 £B-2dH| 490 490 0
01 At 22l 490 490 0
1O EXNANEA =Y 70,0008 «7H 490
Ct23NEXNJEEH SE=AIMNLEX 5,000 0 5,000
Al 5,000
307 glz2+ol & 5,000 0 5,000
Al 5,000
10 ALSISXAIEEE 22X 5,000 0 5,000
1.O230E NFHH S=A30 Y
5,000,000& 5,000
Al 5,000
ChENESXNHEH SAA=E 14,400 0 14,400
Al 14,400
307 glz2tol & 14,400 0 14,400
Al 14,400
10 AL SXAIEEE2EH EX 14,400 0 14,400
1L.OS23INEXNZLHE SME
14,400,000& 14,400
Al 14,400
CH23I0IE Atell el (ME XS AH) XA 20,000 20,000 0
= 14,000
Al 3,000
- 3,000
307 gl2tol & 20,000 20,000 0
= 14,000
Al 3,000
- 3,000
10 AL SXAIEEE2EH EX 20,000 20,000 0
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2N

rE=X 0

M 4. ots=K A
el HdAZ0l & MEHIEXH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
1.O23tE At Zel (MEXIZ AKX
20,000,000& 20,000
= 14,000
Al 3,000
T 3,000
2L 2 WS M A 127,800 121,639 6,161
= 89,460
Al 19,170
- 19,170
307 glz2tol & 127,800 121,639 6,161
= 89,460
Al 19,170
- 19,170
10 AL SXAIEEE2EH EX 127,800 121,639 6,161
1.O23E Y2 usAHHA 127,800,000 127,800
= 89,460
Al 19,170
- 19,170
ZE0I2A HEHXA 3,000 3,000 0
= 2,100
Al 450
T 450
307 21201 A 3,000 3,000 0
= 2,100
Al 450
T 450
10 ALSISXAIEEE2FHEX 3,000 3,000 0
1. 228024 HEHXS 3,000,000& 3,000
= 2,100
Al 450
- 450
oIS JIsatd3 2y 16,571 17,155 A 584
= 11,600
Al 4,971
307 gl2tol & 16,571 17,155 A 584
= 11,600
Al 4,971
10 ALl SXNAIEEE2EH EX 16,571 17,155 A 584
1.0/ JIE88 =24 16,571,000& 16,571
= 11,600
Al 4,971
st=20un=s 22,162 22,161 1
= 15,513
Al 3,325
T 3,324
307 glz2tol & 22,162 22,161 1
= 15,513
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M NESXD

HH: 04 OlE=2X E&
Sl CIMAGIBOI U MBI (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 3,325
T 3,324
11T M SXASEX 22,162 22,161 1
1et=0us 24 22,162,000 22,162
= 15,513
Al 3,325
- 3,324
ZE0I2A S - HAMHI A 17,232 17,017 215
= 12,063
Al 5,169
307 21201 A 17,232 17,017 215
= 12,063
Al 5,169
11T A SXAIEE = 17,232 17,017 215
1. 228012X&E - HAMH A 17,232,000& 17,232
= 12,063
Al 5,169
Ct2stts doge X3 83,213 83,213 0
= 58,249
Al 24,964
307 gl2tol & 83,213 83,213 0
= 58,249
Al 24,964
11T M SXAISE EX 83,213 83,213 0
T.OEeE d02ge XA 83,213,000& 83,213
= 58,249
Al 24,964
20H 0o XIHH 29 312,046 245,636 66,410
= 161,023
Al 95,512
T 55,511
307 21201 A 312,046 245,636 66,410
= 161,023
Al 95,512
T 55,511
10 ALSISXAIEEE2GHEX 312,046 245,636 66,410
1,240t CHoF RNIfdH 29 272,046,000 272,046
= 161,023
Al 55,512
- 55,511
2. 3880t LisH 22 40,000,000& 40,000
Al 40,000
ROt BRRu= 4,580 0 4,580
= 2,290
Al 1,145
T 1,145
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M NESXD

HH: 04 OlE=2X E&
Sl CIMAGIBOI U MBI CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 4,580 0 4,580
= 2,290
Al 1,145
- 1,145
11T M SXASEEX 4,580 0 4,580
.20t R20= 4,580,000& 4,580
= 2,290
Al 1,145
- 1,145
AL INERNHEH BAL =E 11,520 8,640 2,880
Al 11,520
307 21201 A 11,520 8,640 2,880
Al 11,520
10 ALSISXAIEEE2EHEX 11,520 8,640 2,880
1.2t XNJHdH SAMX=E  11,520,000& 11,520
Al 11,520
X 89,166,829 86,932,555 2,234,274
= 51,538,180
Al 29,920,043
- 7,708,606
EFAMHIA DB RS 89,046,829 86,749,555 2,297,274
= 51,478,180
Al 29,890,043
- 7,678,606
ESYRLSFA 372,530 325,430 47,100
201 et 7,850 4,850 3,000
01 At 2teltl 7,850 4,850 3,000
(CEEES=Y-} 1,250
1AL SN AMHI AR SHM S A E A EHE I
2503 +5,000% 1,250
(2g=2¢) 6,600
| ESEMASFELY 3,600
bo 70,000& »12H *33] 2,520
Lh. =2t 30,0003 12 +33] 1,080
2.012018 2EAE SEUF ZAME
3,000,000& x1H 3,000
307 21201 A 219,780 320,580 A100,800
02 It S AHE L 31,780 31,780 0
TOHEOI M AA(FE DAASHES
31,780,000 31,780
11T ALS S XAEE = 188,000 288,800 A 100,800
1. Z0H0tE & &&=l 2,000,000& 2,000
2.BEKIMEIZ2E5E 138,000, 000& 138,000
3.ZClAII AL R XA 48,000,000& 48,000
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2N
P ESXE

el

X ZH
S =

rE=X 0

BEMHA RS

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
402 BI2FX=01 M 144,900 0 144,900
01 2I2E 2 A B (KR ) 144,900 0 144,900
.ogolEsZiees2d A
144,900, 000& 144,900
EswWAHA ALK 11,143,248 9,906,053 1,237,195
= 6,685,949
Al 3,120,109
- 1,337,190
307 gl2tol & 11,143,248 9,906,053 1,237,195
= 6,685,949
Al 3,120,109
- 1,337,190
10 M3 SXNANEHI2IHEXR 11,143,248 9,906,053 1,237,195
1.2|nd@ A8 XA 11, 143,248,000& 11,143,248
= 6,685,949
Al 3,120,109
T 1,337,190
ESUAIA HRMLH XA 4,179,568 3,402,076 777,492
= 2,507,741
Al 1,170,279
T 501,548
307 glz2tol & 4,179,568 3,402,076 777,492
= 2,507,741
Al 1,170,279
T 501,548
10 ALSISXAIEEE2EHEX 4,179,568 3,402,076 777,492
1.2 X WAL 2124d| 973,383,000 973,383
= 584,030
Al 272,547
- 116,806
2. WAIZ R EZ &I 3,206, 185,000& 3,206,185
= 1,923,711
Al 897,732
T 384,742
IR0t Ex2 A& 39,716,406 39,323,175 393,231
= 29,787,305
Al 6,950,371
T 2,978,730
307 glz2tol & 39,716,406 39,323,175 393,231
= 29,787,305
Al 6,950,371
T 2,978,730
11T ASISAASEE X 39,716,406 39,323,175 393,231
1. 9170282 X& 39,716,406,000& 39,716,406
= 29,787,305
Al 6,950,371
- 2,978,730




M NESXD

o 2R

S ESAHA JBRS EEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Fel¥EEZ K& 13,889,000 14,319,874 A430,874
Al 13,889,000
307 gl2tol & 13,889,000 14,319,874 A430,874
Al 13,889,000
11T ALS S RAEE = 13,889,000 14,319,874 A430,874
1.213~5M el tE Es=2X#
10,564,000, 000& 10,564,000
Al 10,564,000
2. 01354\ 2l Y 2ULSLSNH
3,325,000, 000& 3,325,000
Al 3,325,000
ANZHES AblA MEX& 259,786 233,496 26,290
= 129,893
Al 64,947
- 64,946
307 21201 A 259,786 233,496 26,290
= 129,893
Al 64,947
- 64,946
11 ALS S XAEE = 259,786 233,496 26,290
TAIZHES MBlA M3XJ 259,786,000 259,786
=2 129,893
Al 64,947
T 64,946
S380e 0 22| 665,900 675,420 N 9,520
= 399,600
Al 186,400
T 79,900
307 i+l & 665,900 675,420 A 9,520
2 399,600
Al 186,400
T 79,900
10 ALSISXAIEEE2EH EX 665,900 675,420 A 9,520
1. 2380208 665,900,000 665,900
= 399,600
Al 186,400
- 79,900
rggssg X 15,824,131 16,219,329 A 395,198
= 11,868,098
Al 2,769,223
- 1,186,810
301 LAz 15,824,131 16,219,329 A 395,198
= 11,868,098
Al 2,769,223
- 1,186,810
01 AR 2Z A5 3 15,824,131 16,219,329 395,198
1S53 15,824,131,000& 15,824,131
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M NESXD

o 2R

Sel: BRHHA JBRE CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 11,868,098
Al 2,769,223
- 1,186,810
FEILHEH=2Z 18,200 18,800 A 600
= 9,100
Al 4,550
- 4,550
301 gt 4= 18,200 18,800 A 600
= 9,100
Al 4,550
- 4,550
1M1IIEEAS 18,200 18,800 A 600
1.222LIHEHZ2S 18,200, 000& 18,200
= 9,100
Al 4,550
- 4,550
el Ol AIHISEXI& At 2,303,906 2,132,746 171,160
Al 1,300,433
- 1,003,473
307 21201 A 2,303,906 2,132,746 171,160
Al 1,300,433
- 1,003,473
10 ALSISXAIEEE2GHEX 2,303,906 2,132,746 171,160
12O EZ0 20 E&8 8= X& 20,000,000 20,000
Al 20,000
2.HMOIESNHNAEE LI 90,240,000 90,240
Al 90,240
. ESWAMMRIHLH 1,602,120,000& 1,602,120
Al 801,060
- 801,060
4.2 BEHAANLEESWDAIY 284,400,000 284,400
Al 142,200
T 142,200
5. R0 E=E2 AU A 56,176,000 56,176
Al 28,088
- 28,088
6. 8IS0l S#ZMedl X
132,000, 000& 132,000
Al 132,000
7.0{201F HETHESHIIY X
64,250,000& 64,250
Al 32,125
- 32,125
8.2x5&¥d+g 54,720,000 54,720
Al 54,720
oelold 22X 150,824 193, 156 N42,332
= 90,494
Al 42,231
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2N

X ZH
S =

el

rE=X 0
CESIE

BEMHA RS

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
- 18,099
307 2iz2to| A 150,824 193, 156 N42 332
= 90,494
Al 42,231
- 18,099
10 MM SAANEEHESIGHEX 150,824 193, 156 N42 332
1.0 M| 141,991,000 141,991
= 85,194
Al 39,758
- 17,039
2. X294 8,833,000& 8,833
= 5,300
Al 2,473
- 1,060
el old &=x 523,330 0 523,330
Al 392,500
- 130,830
405 XHAHFE S HI 523,330 0 523,330
Al 392,500
- 130,830
01 XAt 2 E 5 523,330 0 523,330
1.8320 &0l H 20|
523,330,000 523,330
Al 392,500
- 130,830
Helo|l&oIseEd 120,000 183,000 A 63,000
= 60,000
Al 30,000
- 30,000
Helol& &sHHH 120,000 183,000 A 63,000
= 60,000
Al 30,000
- 30,000
402 BI2H X201 M 120,000 183,000 A 63,000
= 60,000
Al 30,000
- 30,000
02 QIZ2t X2 AL S (Ol & THS) 120,000 183,000 A 63,000
1.018l 0| & & < 120,000,000 120,000
= 60,000
Al 30,000
5 30,000
HHS2ABH (JIEEXD 162,976 153,423 9,553
ol =2 HH| 85,081 79,528 5,553
ol =AY 85,081 79,528 5,553
101 Q124 H| 85,081 79,528 5,553
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SA: SN
M HM2AAH (JIE=X 1)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 2 85,081 79,528 5,553
1A 28224 85,081
t.e2 10,682& *8H *34 Al 2+ x12& 34,867
Lh.72 9,649& x5 x34A| 2t %128 19,684
Ct.8=2 8,663 x5H x34A| 2tx12& 17,673
ct.9=2 7,830 *3H *34A| 2+ 128 9,584
OF. ™ S I & B 81,808, 000& *4% 3,273
Jl2& bl 77,895 73,895 4,000
&l 77,895 73,895 4,000
201 LEt2 Y| 20,115 16,115 4,000
01 AFR 22l dl 19,568 15,568 4,000
(eeta=H|) 8,480
1. 28289 +8H| 200, 000& *22H *80% 3,520
2. -0 =X 2& M Al 1,500 & 40001 *2Z *80% 960
. HANAADEZ WA 200
b BHAEH 100, 000& *23] 200
4. A0 EZSIH2AAADS A 3,800
ot 2 EZeHeHEY 400,000& *x2CH *13] 800
LI . EYHIZEHEY 300,000& *5CH *23] 3,000
(Z&khl) 11,088
1SS 2= 2SS 4|
7,000 x22H x6A! x 128 11,088
02 332494l 547 547 0
(B222LHA) 547
1.928= 547
Jb. Bt 300& *40S 12 x90% 130
L. S0 1,930& x20S *12& *90% 417
202 04| 52,800 52,800 0
01 2LHOHI 52,800 52,800 0
1.IEsSNERFAI 20
20,000 10 x22H x12& 52,800
203 ¥R =&XH| 3,780 3,780 0
04 ENSIHRE=XY| 3,780 3,780 0
1.2 RFEY| 350,000& *12& *90% 3,780
204 X243 A Y| 1,200 1,200 0
01 S RHFH| 1,200 1,200 0
1. AMBHR2FE| 100,000& = 12& 1,200
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T.HR=EFRELAEIYH KNH 20,000,000& 20,000
FLAUESES 10,000 9,000 1,000
Al 5,000
T 5,000
307 21201 A 10,000 8,000 2,000
Al 5,000
T 5,000
02 QIAHFAANGFEX 10,000 8,000 2,000
1. 3A8AAHEE 2 10,000, 000& * 14 10,000
Al 5,000
- 5,000
FAENS0HE 28,000 28,000 0
= 11,200
Al 8,400
- 8,400
307 21201 A 28,000 28,000 0
= 11,200
Al 8,400
T 8,400
02 It S AIHE L 28,000 28,000 0
1LE2EHUHES0E 28,000,000 » 14! 28,000
= 11,200
Al 8,400
T 8,400
FSHEEATRSBE 7,000 4,000 3,000
307 glz2+ol & 7,000 4,000 3,000
04 QIZFHALAIH E = 7,000 4,000 3,000
1. 89588 AHRSNRAEE 7,000,000& 7,000
SEENFUHLNELAETAY 17,411 16,000 1,411
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HAEHZSIHAEE 2,000 2,000 0
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307 21201 A 139,114 99,000 40,114
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05 BIZHRI & 3 139,114 99,000 40,114
1.5t1 8 HAUXAME SLX 2
109, 114,000 14 109,114
J| 76,380
Al 16,367
- 16,367
2.8 g #A24d =XXNF 30,000,000 14 30,000
Al 30,000
202 UslUs MY 158,900 60,000 98,900
Al 158,900
101 @124 dl 65,678 0 65,678
Al 65,678
04 D122 2XREE S 65,678 0 65,678
122 59,564
Hol=s 1,720,000& x 128 »2H 41,280
Al 41,280
Lb Al 22
12,3403 x25A| 2t 128 x2H 7,404
Al 7,404
CH.&Z 0l 200,000 x 123 x2H 4,800
Al 4,800
ct. WS 2| 100,000& 123 «2H 2,400
Al 2,400
O ZHZ A 70,0003 x 123 x2H 1,680
Al 1,680
ct. @ E S0 500,000& 23| x2H 2,000
Al 2,000
CANENREEER 6,114
b2 ALEEZ 29,782,000 x2Z *3.06% 1,823
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Al 120
O.Zez=zE8= 29,782,000 x2H x4 .5% 2,681
Al 2,681
ct.IEB2ER 29,782,000& «2H «1.5% 894
Al 894
Or.aTHEE 2 29,782,000& x2H x1.0% 596
Al 596
201 ¢er24l 3,222 0 3,222
Al 3,222
03 AH2 S Hl 3,222 0 3,222
1.2cl0t2 nEUsAY 2
3,222,000 x 14! 3,222
Al 3,222
307 21201 & 90,000 60,000 30,000
Al 90,000
02 B HYANEEX 90,000 60,000 30,000
1.2c2l0t8 usUsAHY 90,000,000& 90,000
Al 90,000
EAEUSENENAH 29 90,100 87,671 2,429
J| 45,050
Al 22,525
T 22,525
307 21201 A 90,100 87,671 2,429
J| 45,050
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T 22,525
05 RIZtE = 90,100 87,671 2,429
1LEAESEXNEMA 2 90,100,000 * 14! 90,100
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Al 40,000
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T 70,000
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J| 10,680
Al 5,340
- 5,340
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Al 32,040
- 32,040
THIZ)H2ILEBLSNA 3,000 4,000 21,000
J| 1,500
T 1,500
307 glz2+ol & 3,000 4,000 21,000
J| 1,500
T 1,500
05 RIZt2IE = 3,000 4,000 A 1,000
1. 3382 ANEIZ20#H2IHY|
3,000,000 » 14 3,000
J| 1,500
T 1,500
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J| 125,333
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T 62,666
307 glz2tol & 250,666 251,028 A 362
J| 125,333
Al 62,667
T 62,666
05 RIZt2E = 250,666 251,028 A 362
LEAEHNS0IHA02 S 250,666,000 250,666
J| 125,333
Al 62,667
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L= B

el

HYDSD
SMHeszE
RApTHBRS

SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
= 35,349
Al 17,675
T 570,851
AzeEsLEs3E24d 195,666 184,248 11,418
101 @14 Hl 51,594 48,075 3,519
04 JIZHZ22XREES 51,594 48,075 3,519
(=4 e BX9) 51,594
1.8+ 46,792
20N 51,7603 x8H » 113 46,792
2ANENRE EEE 4,802
b NESBE= 46,792,000& x1.5% 702
(s R =g = = 46,792,000& *4.5% 2,106
Ch.20A4288a 46,792,000& *3.06% 1,432
et SEIQUYEEE 1,432,000 *6.55% 94
o ATHEEZ 46,792,000& x1.0% 468
201 LBH2E| 46,072 41,681 4,391
01 At 22l 46,072 41,681 4,391
(get+=&dl) 44,182
.82 dJ|Idds =2 10,620
b AlE 15,000& x 158+ 12& 2,700
Lt.OJ&lolal 2 6,000& x55 * 122 360
Ct. & X 10,000& x455 +12& 5,400
ct. &0l & X 12,000& *15& 128 2,160
2.ENZ3 A (RFIDE)
1,300& x7000H 122 10,920
3.3 BL=ZEHelE 48,000 200128 1,152
4 ENEE 28BS 625,000 » 14 625
5. 5d&elcte 2 IIH 166& *7,000 1,162
6.=ASE 1,060& «15000 x12& 1,908
7.=EMSsEZEHel=3tEel Xl 35,0008 *5H 175
8. T AZAAX 800& *4,000% 23| 6,400
9.EM7Y HAEHIEIS 1,870& x6,000 11,220
(2g9+¢) 1,890
1L.EAZ2ERAJ A
70,000& x9H 33| 1,890
301 L2 A F 7,200 7,200 0
11IIEEAS 7,200 7,200 0
1. XSS AR A28 7,200
Jb. nEtl 5,0003 «6H+10 128 3,600
L. A 5,0003 6 ~10 128 3,600
405 TtHabH S| 90,800 83,800 7,000
02 S A7l 90,800 83,800 7,000
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sSHesas
RrMEHBEY

SN HH-S(BN) - MBAY - B il HlnE2
1.2 M 84,800
b &I T 14,000& *1,000& »43] 56,000
Lh.sl2E N 14,0002 x 1002 » 128 16,800
CHEU3AN 20,0003 *300& 13| 6,000
. O2ste M 20,0003 300 13| 6,000
2.HEA 6,000
Jt.DVD 30,000 x100& *23| 6,000
SNNEAMINE R EZ2TH2Y 64,140 63,640 500
201 LBr2EH| 60,640 61,140 A 500
01 At 2t 2l 59,940 58,620 1,320
(Zer==gHl) 17,700
1.2 529 2,480
b5 120,000& *43| 480
L2822 100& *5,00004 43| 2,000
2.5NLARY 700
b= 50,000& *23| 100
Ut.sSMna2g 300,000& »23| 600
J.SAEIER2I (M R0, &5A) 12,000
I ESAEIE(1~24001 ) 15,000& 200 3,000
LH.SAEIE E2A(25~48018)
15,000& 200 3,000
CH.SAEE BES4X(49E~FHEH)
15,000& 300 4,500
ct.Ch2st SAEE 15,000& 100 1,500
=EM3 &8 g2 12,0002 1008 1,200
CREF2UHAA 2 400
b 8= 50,0002 *40H 200
L2222 1002 *2,0000H 200
SAMAG A 2 600
b5 50,0002 =80H 400
L2822 100& %2, 000 0K 200
182 SEMBE 29H 320
b 85 50,000 »20H 100
Lt. TH = I 220,000& » 14! 220
(2e+¢) 42,240
EMNSAN 2AE
40,0003 *2 Al 2t %43 x 1224 X+ 113 42,240
A2 H I 700 2,520 21,820
1.5M2Y dA2EHI 500,000 » 14! 500
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02 =M=l 36,400 4,800 31,600
.27 36,400
FEIEMTLS 14,000 x200 =54 2 14,000
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(R8N 52222 10,662
1.6 85,8673 *4H x1U+123 4,122
2.72 77,5633 x1G x 1L 128 931
3.82 69,633F x4H x 1L +128 3,343
4.95 62,9413 x3H x 1L 123 2,266
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(2g+g) 2,730
| HPSTNEHSLHB S Fa4Y
70,000& *13H *33] 2,730
Uote A2 1,000 0
SHALAH|E A2 1,000 0
.22 XS5ts ol 3 HALE O
200,000& x5H *13] 1,000
283 57,646 45,789
ol H| 44,669 44,669
2R Z2ENSE S 44,669 44,669
(MEHH MBS OFMME HMHAIY o122) 44,669
1.8 39,753
Jb.2: 51,7603 *101 ~6H 31,367
L. =524 51,760& x212 x6H 6,522
Ch. X< 51,7602 x6 x6H 1,864
2.08288 39,753,000& *1.5% 597
3.=201H3 39,753,000& *4 .5% 1,789
4. H2LEE 39,753,000& *3.06% 1,217
5. 3J|¥EE 1,217,000 *6.55% 80
6.0 HEE 39,753,000 *3. 1% 1,233
282 A 10,780 1,120
AP 22| Bl 10,780 1,120
(get==24|) 9,800
1.0MESAE BE52 EEES (84S
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2.ME N H et OF EXl &Hl7g 1,400
JbHIAHE 2( ) 5,000& =404 200
Lt 2 Xt 5,000& *20 4 100
Ch.29 5,000& x20& 100
ch. ot M gt 50,000 x142Z & 700
O El XIS 10,000 & *30BOX 300
J.0fMEsSZ2 R 2d EHl 7Y 300
. Bs&2 50, 000& *2H 100
L. 2 H= 100,000& x 1 100
Ct.28gRE 50, 000& *2H 100
4. SHOFMSZS 1Ho 3,000
b BN 100, 000& *20H 2,000
Lh. 2010 A 100,000& =104 1,000
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1.8JISE2IE X8I SR 3 A 20,000, 000& 20,000
= 10,000
T 10,000
Aoszasgs o #ZdsEs N 8,000 8,000 0
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2)80KgOHCH 2702 «1,0000H =12 3,240
3)200KgOHCH 5003 6400 12& 3,840
2.AA & EES UM 1,580
Jb A DI RI &A= AElH 60& %12, 0000HK 720
L A2 0N S 50,0003 =8 400




AN EF 2l
A yapel 2 HIISTY
& Faze (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ct.AeIsgNE2S A
503 2301 = 40004 460
(HAX2EE S MEZRN S2l) 13,440
LHAGSHE eI A
,000& x202 «8H «12& 13,440
(2AXedd 1=dl) 1,088
1.0 (2NEE) 40,0002 x8H 320
2. 85 (2NLE) 56,0003 x8H 448
3.29 40,0002 »8H 320
(MEHII2 WSS EOt) 600
1.8 slo < 100,000 »3H »23| 600
(B2 0IS2ARTHE) 1,100
1.2AEAM AMS EHIS 500,000 » 14! 500
2.8 S JIEt 300,000& 300
3.0ERRASY 100,000& *3H 300
(SZF0MH X24l) 27,600
1.5F0HH EA2H 23|
1,200,000 2301 = 27,600
(2g+¢) 1,100
1.&8¢201s32elRAdsl =
100,000 »3H »23| 600
2. 220l NF ZAE 500,000& x13] 500
02 2324l 3,136 3,136 0
(2322 % HMA) 193
122 ZEANRE=Z 1,930& »100AH 193
(A2 & Hl s Xdl) 2,943
1. 2R ANSE=FH 9,000& *3037H *30% 819
2. 3AZHI(2l0ItS )=l
9,000& x50+ 12& 540
.20 AASHEZIY RAUE=H|
132,000& =12 1,584
405 XHoHE S HI 13,500 4,500 9,000
01 AL ESFH S 13,500 4,500 9,000
1.t2018Hd &4 300,000 »5CH 1,500
2.NZFXNS 600,000& 20K 12,000
220t =4=X 186,580 171,850 14,730
201 L2 | 167,200 149,700 17,500
01 AR 22l H] 1,200 1,200 0
(gera2Hl) 1,200
1.2 Z0/st3 A4 22| 100,000& =122 1,200
04 tSEEXNHMEA BB 166,000 148,500 17,500
1.&82Z2013d XEE =X 1,000,000& 166 166,000
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2N
X ZH -
L= B

el

Oxt Okt o
B b X

2tel ot
el & mHol=zE
2tel

SN HH-S(BN) - MBAY - B il HlnE2
301 gt L= 19,380 22,150 A2,770
09 HALAHIEA S 12,000 12,000 0

1.2 301s2 M= 9,000,000& 9,000
2.2¢HeADS H&X AS  300,000&*10H 3,000
1MIIEBESS 7,380 10, 150 A2,770
1. EEEET D188 400,000& x6H 2,400
222N B0IEAA 30,000& 166 H 4,980

BE0ISE SAMYR =X 8,640 8,630 10
201 2et2d] 1,980 1,980 0
01 At 2teltl 1,980 1,980 0

(CEES=Yp 1,980
1.820138 =8 2 UEZ
165,000& = 12& 1,980
203 H R =&l 3,000 3,000 0
03 Al =X A2 =& 3,000 3,000 0
1.8Z2013d S8 tAdnyg gRF2H
3,000,000 3,000
301 gt 4= 3,660 3,650 10
1MIIEBELSS 3,660 3,650 10
1880138 =S8 ZEIIEE X3
10,000& 166 1,660
2. 2tB0ISA S AR =33 2,000,000& 2,000

HAXY HA 94,517 88,426 6,091
101 124 dl 90,373 84,282 6,091
04 JI2ZHHZ2XEE+ 90,373 84,282 6,091

(HUYXNAHL o122) 89,298
1.8 79,345
b.2¢ 54,720 x5 21U« 118 63,202
L. At 54,7203 x5F 11 3,010
=54 54,7203 x5 x48 13,133
2ANSNEE BEE= 9,953
. ng28= 79,345,000& x1.5% 1,191
LA HEE = 79,345,000& %3.28% 2,603
Ch.20H3EER 79,345,000 *4.5% 3,571
ct.mBALBEEE 79,345,000& %3.06% 2,428

O S EIIQLYEEZ 2,428,000 *6.55% 160

(o =4l) 1,075
1.0t 80| & Y=E 40,0003 «5H =1 200
2. SEIIHY=E 40,000 x5 14 200
KIS ESENp)] 25,0003 x5H 1L 125
4. Z et 5t 40,0003 «5H =1 200

_93_




AN EF 2l
M HAaze @ HIOISZE
Haze (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
LS 20,000 »5H 1 & 100
6. &2 50,0002 x5H 1L 250
201 €2l 2,144 2,144
01 At 22/l 2,144 2,144
(fet+=&Hl) 1,604
1.2EUEZ 2s&H #< 794
b2 Xt 2,000 =180t *80% 288
L. O o0 @ 1,000& 200 x80% 160
CHOIEH(E A, Z2Z, 0t S)
8003 1801 *3& *80% 346
2.2CeI HIIE HMeldl 270,000& x33| 810
(S&tl) 540
1.2EHEZ £ ol dIIdel 2tall
1,500 180K 23] 540
301 et A=z 2,000 2,000
09 &AL HI B A S 2,000 2,000
TEAFHAX L scfMeldlIXel =4l
5,000& x50H *4 3] 1,000
2.89Z2 MHAAIZE MeldlXel =4l
5,000& *50H x4 3] 1,000
MEHIIS =H.2¢E 3,059,678 2,905,700 1583,
207 A ROl 11,000 5,000 6,
01 289 11,000 5,000 6,
|22 BB
11,000, 000& 14! 11,000
307 glz2+0ol & 3,048,678 2,900,000 148,
05 RIZt2E = 3,048,678 2,900,000 148,
MBS 2SS +42 3,048,678
Hol=tHd=z 1,748,678,000& 1,748,678
L AXEE 1,300,000, 000& 1,300,000
[IJI2Xel 714,000 638,964 75,
308 XXM SOIA 714,000 638,964 75,
10 B2 SUHUSBAHHH A 714,000 638,964 75,
TN A A DI 0H & A 2l bl (Of &) &, A2FEH) 714,000
Jb.7EF 16,9003 x950&E » 128 192,660
Lt CHEE & X 521,340,000 521,340
FAXE el 510,787 494,527 16,
201 et 506,827 490,567 16,
01 At 22l 2,400 1,800
(ger=&dl) 2,400

_94_




SA: sFae
HHM: HApe L HISLH
Chell HA L (SH2:EH)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
TLEAXDI 2GH(EX U5, 202 AR
2E 5) 100,000 * 12 1,200
2.HAXDNES HAIAX2
50,0008 x2CH « 122 1,200
02 329 H| 504,427 488,767 15,660
(8322 %2 WA) 33,592
LEIANES(HAXDX)
350,000 * 122 x90% 3,780
2.+ZANEE(HAXDX)
300,000 * 122 x90% 3,240
S ASXEE 14,445
b EHAXY 400, 0002 *7CH * 13| *90% 2,520
Lt.JIEFRF2¢ 300, 0002 *7CH * 13| 90% 1,890
CH.2A2MY )| &2t
600,000 * 120K x13] *90% 6,480
ISP 500,000 «6CH * 13| *90% 2,700
OF. & Xt 500, 0002 * 1CH * 13| 90% 450
BH. Ol & Xt 150, 0002 *3CH * 13| *90% 405
4. HIHAN 222 3,527
b EAX 55,0002 *7CH *23] *90% 693
Lt.JIEFRF2¢ 47,0002 *7CH *23] *90% 593
CH.2A2MY D] T2
55,0002 *12CH 23| 90% 1,188
2t & B 55,0002 *6LH *23] *90% 594
Ob. &R} 55,0009 *1CH *23] *90% 99
HE.CNGRI & 2|2 Al
400, 0002 *1CH % 13| *90% 360
s.etPueea 8,379
JbEAX 190,000 *7CH %23 *90% 2,394
Lt.JIEFRF2¢ 75,0002 *7CH *23] *90% 945
Ch.2A2MY I &2t
200, 0002 *9CH %23 *90% 3,240
ISP 200,000 «4CH %23 *90% 1,440
O A2 X} 200, 0002 * 1CH %23 *90% 360
6. XS XAl 221
Jb.1.258 35,0002 *7CH *90% 221
(A& ZEHISXH) 1,575
1.0l 2 X2 XIH| 250, 0002 *3CH *90% 675
2.HAXNDK KX e 1,000,000 *90% 900
(Rt Hetd]): 2L XH, R, 24| 469,260
1T.EAR 1,200,000 *7CH* 122 *90% 90,720
2. J|EbRtE 250,0008 +7CH = 128 x90% 18,900
3.2 2MY D SE 2R
1,700,000 *120H * 122 x90% 220,320
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SA: BEBAD
Iu: gAme L HIIS2RY
& Faze (=& J)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
4. 2B X 2,000,000 x6CH» 123 x90% 129,600
5.4 ==Xt 900,000& = 1CH=12& *90% 9,720
307 gl2tol & 3,960 3,960 0
05 BIZHRI & 3 3,960 3,960 0
1LEAX DX SFH 4l 330,000 128 3,960
MEHIIE = 2EHEHl KA 169,700 377,000 A 207,300
405 XHoHF S HI 169,700 377,000 A 207,300
01 AL EZFH S 169,700 377,000 A 207,300
THEMY D] SR 100,000,000 =1 CH 100,000
2. HEHIIE =HIE 23,000,000 =3CH 69,000
HAXDA HE(AMPAHHLE)
700,000& = 1CH 700
Ml SEHNSE HEsE 742,830 665,615 77,215
201 £B-2dH| 738,790 661,475 77,315
01 At 22l 736,860 659,545 77,315
(ger=gdl) 736,860
1. AHDIISE A 611,650
Jb.3¢ 243 400, 0000H 9,600
Lt.5¢ 29& *350, 000 0H 10,150
Ct. 102 39& *3,430,0000H 133,770
ct.204 55%& 3,000, 0000H 165,000
0t.304 83& +330,0000H 27,390
gt.504 118& *530,0000H 62,540
Ab. 1004 208& *750,0000H 156,000
Ot. 238 (504 ) 118& %400, 0000H 47,200
2. MY IISEHDE oI 7.5&+9,190,0000H 68,925
J.ELHNESSEHHE (5L 2 58)
250,000& x63] 1,500
4. 1ASE ERIXA 85& *5,0000H 425
5. MJIS& A D2 ER 15
800& *40074 & 320
6.E2HNSELSASHFE S
3,400& x14,000A 47,600
7. EEHSEUMNRL RIHI(EXN, 28 E
NREES) 70,000& 128 840
g.MYIISE SFHNE T2 & 2HE
H S X2 =4 1,400, 000& *43| 5,600
02 =224l 1,930 1,930 0
(823232 % HA) 1,930
LAY SHNSEHHE =SS
1,930& 1,000 1,930
307 21201 A 3,240 3,240 0
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SN BEUD
3 HAade Y HIIEZHE
chelr ®aze (el @2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
05 QIZtR E 2 3,240 3,240 0
1. MY AESE 210 RoFHEHH
270,000& 128 3,240
405 Ko SHI 800 900 A 100
01 It = S F SHI 800 900 A 100
1.2520 &3 2 800,000 1 CH 800
SHEEYP2Y #HAGHH &H 6,500 5,500 1,000
201 et 9| 3,500 3,500 0
01 At 22l ] 3,500 3,500 0
1.0FCH (80kg) 2703 x5, 00004 1,350
2.0tA X)) 3,000& 3004 900
3.8 250& *5,000Z dl 1,250
303 ZAZ 3,000 2,000 1,000
01 Za2 3,000 2,000 1,000
1. 83AMEEI 2 SFOHE A& 3,000
ot 2% 1,000,000 10 = 1,000
L. 2= 700,000& 100 = 700
Ch. & 400,000 2 = 800
ch. == 250,000 *2 = 500
HIIZ2 SgHis 22l 192,560 104,731 87,829
MY JIEYEHIE AEHS 101,460 90,631 10,829
101 @121l 64,081 59,493 4,588
04 JI2ZtH 22 XNEE S 64,081 59,493 4,588
(MDIEe8lEs cts022) 64,081
1.9 56,937
pi=1 51,7603 x4H 220 45,549
L. =52 51,760& x4 44 9,110
Ch. AR =S 51,7603 x4H x 11 2,278
2ANENHEY BEE 7,144
b AMTHEE & 56,937,000& *3.28% 1,868
L. DEEE= 56,937,000& *1.5% 855
Ch.200d2882 56,937,000 *4.5% 2,563
ch.2oAULEE S 56,937,000& *3.06% 1,743
O oI QABEES  1,743,0009 x6.55% 115
201 Bt A H| 17,379 26,438 A 9,059
01 At 22l ] 7,107 15,662 N 8,555
(eeta=H|) 5,695
1. Ao 3,795
.S UEE DX A 400
1)OCRZ2 XI A 50& *4 ,0000H 200
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SA: BEBAD
M HAaze @ HIOISZE
S HIIE SYHHE 22 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Q)BEF 50& *4,0000H 200
L2822 DAEH MZE 700 70004 490
CHE8lE S22(MuX) M
50& =9, 0000H 450
ch.=28HE A8829 ME
7,000& 500 2304 = 805
O EYA2 SEESAHT
50,000& =104 500
H.28 S0 Moz ag S=2HE
50,0003 14 2304 = 1,150
2. UHERUNE 88 ZEH EUFY
200,000& *2H 400
3.28HIE 4583 7Y 920
D=y, 2503 1402 cll x 12 420
Lt.OHCH 2503 «10000 x12& 300
Ch.et5e@ IsH(RY, 20 8)
50,0003 x4H 200
4SS 258 A28 ¥ 580
b SHEJASIE 220,000& » 14! 220
L2588 22 120,000 *3H 360
(=&l) 1,412
1420 ZBHHS S (0t ME)S2S A
7,000 8«34 12 «70% 1,412
02 =224l 10,272 10,776 A 504
(2222 % WAl 5,172
1. 2HHESUHS DN SERS 5,172
Jb. et 300& 15024 128 540
Lh. Sl 1,930& 2004 122 4,632
(=24l) 600
1.5 3 UIl4 1,200& %1004 *53 600
(NEZH S XIH) 4,500
1.28 X380l OIs&X ¥ RAL+Hl
300,000& = 15CH 4,500
401 Al HIZ 201 I 20,000 4,700 15,300
01 A& HI 20,000 4,700 15,300
1. AdDIM4sSIINSE otebxd 20,000,000 20,000
MEYJIEYHHE ADEAS 2,000 1,500 500
301 YA 2,000 1,500 500
IARPA S =S = 2,000 1,500 500
TLAYGIIRHEIIAD TS 50,000& *40H 2,000
M Dl SEHEI G AIAE 89,100 12,600 76,500
405 XtAtE SHI 89,100 12,600 76,500
01 XA = ZH SHI 89,100 12,600 76,500
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A BH22 0
M HAZe € HIIS2E
2. HOIS2 S8us 22l (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
1.22 X120 2,700,000& «5CH 13,500
2.28HE)| ¢4EXE 2 27,000,000 =104 27,000
J.EHES? MYJIsYHEI ZAIE CCTVA X
2,700,000 1804 & 48,600
HII2 MM & I HES 7,028,138 5,171,106 1,857,032
2 100
Al 50,000
- 6,978,038
MEEssE 221 ¢ Hel 2,932,032 1,207,386 1,724,646
201 et 9| 4,400 6,800 A2,400
01 AFR 2t 2| H| 4,400 6,800 AN 2,400
(Lets=2Hl) 4,400
1.JHEESE 22 32 9t 222
Ml & 100 20,0000 1= 2,000
2.HAEX HZE =& 2
200,000 = 127K 2,400
207 A I | 13,500 0 13,500
01 | 13,500 0 13,500
1. HEEE HEHIISSE 2L HE HOI2tS]
EF QAIIERA 24 13,500,000& 13,500
307 2Iz2to| A 2,914,132 1,198,626 1,715,506
05 QIZ2tRE 2 2,914,132 1,198,626 1,715,506
1.HEES+H, 28 d8AE A2
2,607,832,000& 2,607,832
2IMEZLUHEHIISH H(el2h)
306,300,000& 306,300
MEEE+HMAHAMNE AL 50,000 40,000 10,000
Al 25,000
- 25,000
201 et H9d| 50,000 40,000 10,000
Al 25,000
- 25,000
01 AP 2t 2| H| 50,000 40,000 10,000
(Let==2H|) 50,000
1. HEE2RE =HE2)|R2Y S
250,000 x200H4 50,000
Al 25,000
- 25,000
SAESFHIIE NS L 28 3,065,640 3,033,040 32,600
201 LBt | 111,724 200,040 88,316
01 AP 22| d| 77,968 171,468 A 93,500
(det==24|) 77,968
1.AA 2 SEESHE 9,768
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AN EF 2l
A yapel 2 HIISTY
S HIIE AN 2 NE HEES (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
307 glz2tol & 828,663 742,802 85,861
05 RIZHRI & 3 828,663 742,802 85,861
T.UHEHIISE XMl 692,433,000 692,433
2. HIt 2 X2l 45,4103 +3,000= 136,230
SEHHIE =8l XA 100 100 0
=2 100
301 L2 A3 100 100 0
= 100
1MIIEESS 100 100 0
1.sEHHE =8 XNJAL 100,000& 100
= 100
SASFHIIS 23 ALY 50,000 20,000 30,000
Al 25,000
- 25,000
401 Al Bl 28I 50,000 20,000 30,000
Al 25,000
- 25,000
01 A& HI 50,000 20,000 30,000
T.REIDIIBI S A SM eIl SEH JIJ1£X
2,000,000 »25CH 50,000
Al 25,000
T 25,000
SASFHIIS =H&FH HA 100,000 110,000 A 10,000
405 XHobF S HI 100,000 110,000 210,000
01 XL 2 ZF S| 100,000 110,000 A 10,000
1.8ASMYI =AHRE 2
100,000, 0003 = 1CH 100,000
MEE HOIE 22 18,591 18,591 0
AMSEE HIIS 22 3,003 3,003 0
201 Let24d] 3,003 3,003 0
01 At 22l 2,508 2,508 0
(Ler2=2Hl) 1,500
1.EHHEMEEHISS HMeldl
300, 000& *5CH 1,500
(S 4l) 1,008
1.28WHsEds 2 S8=F
7,000 *3A! x4H x 123 1,008
02 =224l 495 495 0
(S32L2LHA) 495
T ANSEEIISHEXNAESEAN S SE2 495
Jb. et 300& x1,000H 300
=l 1,950& »100AH 195
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2N
X ZH -
L= B

el

@2l
Fa2e & HOISZE
A E HOIZS 22

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=3t 29 15,588 15,588 0
201 £B-2d| 14,388 14,388 0
01 At 22l 1,938 1,938 0
(ger=&dl) 1,788
TLAE2E A2FH| 1,560
F.EXHE B3R, BLES S
80,000& x12& 960
L. JIEH(EZ,0IU S) 500& =10000 x12& 600
2.91842&5018 19,000& 128 228
(L=Hl) 150
1.833Z 150
2= 100,000 »1H « 1 & 100
LE. &3t 30,000 1 1 & 30
Ct.s9 20,0003 x1H =1 & 20
02 =224l 12,450 12,450 0
(B2323 % HA) 8,610
1.8JIAMEE 560,000& 128 6,720
2. MES 135,000& = 12& 1,620
.22t 135,000& 23] 270
(A& & Hl | X bl 3,840
1.AIE | X2t 320,000 128 3,840
307 21201 A 1,200 1,200 0
05 RIZt2IEt = 1,200 1,200 0
1.2ea R 100,000& = 12& 1,200
HOIZHM2IAE(HIISMH2AE EXNALSESA) 3,950,000 0 3,950,000
HHEURNLR T HIISHAL LAY 3,950,000 0 3,950,000
706 JIEHLH = 21 cH 3,950,000 0 3,950,000
03 HE = 3,950,000 0 3,950,000
1. 883 3,950,000, 000& 3,950,000
YA (P22 D) 11,925,914 11,042,586 883,328
ol 2dH| 11,783,182 10,887,280 895,902
ol 2A| 11,783,182 10,887,280 895,902
101 @124 4] 11,783,182 10,887,280 895,902
01 2= 193,400 180,561 12,839
T A2l =S 181,505
t.6=2 10,682 x11H «34 Al 2+ x 128 47,941
L.7=2 9,649% x21H «34 Al 2t+ 128 82,673
Ct.8=2 8,663& 7 x34A| 2t+ 128 24,742
ct.oz 7,830 «6H *34 Al 2tx 128 19,168
Ot. X <M & 174,524,000 *4% 6,981
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2A: sZae
HM: H¥=2FAH| (2#F 2l
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
2.524222¢ 11,895
.72 77,563& 2 65 10,084
Lt.8=2 69,633 x2H %13 1,811
02 JIEt& E % 50,468 48,517 1,951
(HEHIISES2A Ml AL 2| AR S 50,468
1.20 34,167
1)15E 0| &23E 0| BH(19& =)
2,737,600& x 18 x12& 32,852
2) X I &l 32,852,000& *4% 1,315
2.8332 ¢ 32,852,000& *1/12 2,738
A2t 224 8,883& x1H x34A| 2tx12& 3,625
40154 1,560
b U< Xt 40,000& 1 x 128 480
LE.JIEHIS 20,000& 3~ 128 720
CHOFA S (AT XHE Ol &)
30,000& x1H x12& 360
5.8 38 X H| 105,000 x1H «12& 1,260
6. 8242 (15E 014 20 0] 2F)
80,000& x1H x12& 960
7.8 HZAH| 130,000& x 1H = 12& 1,560
8.2 & = JtH]| 32,852,000 *1.2/12 3,286
9.0 ol & St 50,000& *1H x12& 600
10. 28282 47,433,000& *1.5% 712
03 RINHAZ2Z2XNHE %= 11,539,314 10,658,202 881,112
(2t 0lste oY) 11,449,723
1.J|122 1,990,730& x166H 128 3,965,535
2.402 1,915,968
P ol 2,177,730 166 Y *200% 723,007
L. &2 2,177 ,730& 166 H *80% 289,203
Ch. M &yl 2,177,730 166 Y *250% 903,758
.48+ 487,704
. ExgR2aY 100,000 x166H ~12& 199,200
Lt &g &EdsE 87,000 x166H ~12& 173,304
Ct.ots=< 115,200
1)U S X+ 40,0003 x140H ~12& 67,200
EAPIERES 20,000& *200H x12& 48,000
4. HEFIHY| 2,177,730 166 Y x 120% 433,804
5.8 < IH & i 6,315,307,000& *3.0% 189,460
6.Z2U2RY 857,956
JP A2 R2E
14,775% 1 . 5x8A| 2t * 1662 x4 . 53] 132,444
L. 52224
14,7753 %1 .5%8 Al 2t %140 15 372,330
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AN EF 2l
. HE2GFY(F A2 )
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ch.EXtRazItE
14,7753 xBAl 2H+166H « 18 353,182
7JlEt=Y & 2,758,533
b AEH XS =Y 46,533
NS 465,330 x25F x4 7| 46,533
L &A= 2,712,000
NEEE AT
4,400,000& *13H «150%*254 2,145,000
2)JIEEI A Tt
4,200,000 «5% «150%+ 184 567,000
8.2%2 X R4&4X=H| 600,000 166 *8% 7,968
=X A2 = 3,000,000& »3H 9,000
WW.AMEBUHREY BE2 823,795
.2z EES
3,516,4603 166 B «12& x4 .5% 315,216
Lh.nE28s
3,516,4603 x166 B «12& x1.5% 105,072
ChAaNEEs 2 4AH
3,516,4603 166 B« 12 %2.5% 175,120
ct.2AAEEZ
3,516,4603 166 H «12& x3.06% 214,347
Oh. LoZI LB
214,347 ,000& *6.55% 14,040
(o =4l) 59,926
1.otEJI &= 40,0003« 166G« 1 6,640
2. & H 2Kt 10,0003 x 1669 = 1 & 1,660
3.0FZ M X)) 25,0003 x 166G <1 4,150
4. 7P L9 50,0003 x 166G« 1 8,300
5. & oM 5t 40,0003 x166H 12 6,640
6.sEIIHY= 40,0003 x 166G« 1 6,640
7. 2R 20,0003 x166H«1& 3,320
8. g&t= 40,0003 x 166G« 1 6,640
9. & 300 x166H x10Z &l <123 5,976
10. &8t 2 Xt 10,000& 166 » 12+ 1,660
1. 0Pt THE 30,0002 166 1 4,980
12. 08 &2 20,0003 166G « 12 3,320
(E¥HEsF2eARY) 29,665
1.8+ 26,902
.20 (558) 1,389,430 x1H +x12& 16,674
L. &= 1,389, 430& *240% 3,335
Ct. B E F Ot 1,389,430& »120% 1,668
ch. B A Al 130,000& 1H 122 1,560
Ot. WSl 70,0003 x 18 128 840
HE AIEQI=S 8,9343 «150%*10Al 2+ x 12 1,609
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AN EF 2l
. HE2GFY(F A2 )
Sl ol ) CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A LAY 71,4723 x 18 17 1,216
2ANENREEEE 2,763
. ng28= 26,902,000& x1.5% 404
LATHEE = 26,902,000& x1.0% 270
Ch.20H3EER 26,902,000 *4.5% 1,211
ct.mBlALBEEZ 26,902,000& *3.06% 824
Ot LI RABEE 824,000 x6.55% 54
JlE &3l 142,732 165,306 N 12,574
JlE&l 142,732 165,306 N12,574
201 £B-2dH| 29,488 31,504 22,016
01 At 22/l 29,488 31,504 A2,016
(Yet==gHl) 8,320
1. 242 =2l 200, 0003 *46H «80% 7,360
2.3 44008 & Al A = 40,0003 »24% 960
(S8l) 21,168
1822l BPRFAINES 24
7,000 «42E 641« 12 21,168
202 O4Hl 107,400 117,000 A 9,600
01 S LHOIYI 48,000 57,600 A 9,600
1.23FYRFII20
20,0003 x102+20H «128 48,000
02 M0 59,400 59,400 0
1IN ZASSSR 2250003 +17H«123 45,900
2R =E A0 =RE A
225,000& x5H 128 13,500
203 R =&l 4,644 4,590 54
04 FN2ELRZ=TH| 4,644 4,590 54
1.1 350,000& *12& x90% 3,780
2.=1 5,000 <162 12 «90% 864
204 AR HH| 1,200 1,200 0
01 ¥R 1,200 1,200 0
1AM Z=AH 100,000& »12& 1,200
Nees(sZaal) 503,000 503,000 0
28XE 503,000 503,000 0
MIR= gl 3,000 3,000 0
802 BtEt= DI EF 3,000 3,000 0
03 Ugd=3s 3,000 3,000 0
LAYDIESE Y3 S 300,000 *109H 2 3,000
= - ANHIEXZ EtE 500,000 500,000 0
802 BHEt = JI Ef 500,000 500,000 0
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